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Directions (1-5): निम्ननिनित जािकारी का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए प्रश्नों के उत्तर िीनजए।   

 

आठ नित्र A, B, C, D, E, F, G और H एक गोिाकार िेज के चारों ओर बराबर िरूी पर बैठे हैं। सभी सिाि दिशा की उन्िुि 

हैं(जरुरी िहीं सिाि क्रि िें हो)  साथ ही उि सभी की आयु  अिग - अिग ह ैअथावत् : 17,15, 27, 24, 42, 32, 64 और 

54(जरुरी िहीं सिाि क्रि िें हो)।  

D की आयु B और G की आयु का योग ह।ै D, G के िायें से िसूरे स्थाि पर बैठा। B की आयु नर्षि संख्या ह,ै जो 3 से नर्भाज्य 

ह ैऔर र्ह D के नर्परीत बैठा ह।ै  र्ह जो सबसे युर्ा ह,ै B से िो स्थाि िरू बैठा ह।ै  C और A िोिों, D से बड़े हैं। F, 15 र्षीय 

व्यनि के िायें से तीसरे स्थाि पर बैठा ह।ै F, B से छोटा ह ैिेदकि उसकी आयु गैर अभाज्य संख्या ह।ै E, 24 र्षीय व्यनि से िो 

स्थाि िरू बैठा ह ैिेदकि 8 र्ें सबसे बड़े व्यनि के ठीक निकट िहीं बैठा ह।ै E, C से 22 र्षव छोटा ह।ै A, F और B िोिों  के ठीक 

निकट िहीं बैठा ह।ै C, A से िो स्थाि िरू िहीं बैठा ह।ै    

  

Q1. E की आय ुदकतिी ह?ै  

(a) 32 

(b) 54 

(c) 64 

(d) इििें से कोई िहीं  

(e) 42 

 

Q2. 17 र्षीय व्यनि के सिंभव िें B का स्थाि क्या ह?ै  

(a) निकटति बायें  

(b) िायें से तीसरे स्थाि पर  

(c) िायें से सातर्ें  

(d) (A) और (C) िोिों  

(e) इििें से कोई िहीं  

 

Q3. निम्ननिनित िें स ेकौि सबस ेछोटा ह?ै  

(a) D 

(b) A 

(c) G 

(d) H 

(e) इििें से कोई िहीं  

 

Q4. निम्ननिनित िें स ेकौि 32 र्षीय व्यनि और F के ठीक बीच िें बठैा ह?ै  

(a) B 

(b) D 

(c) C 

(d) A 

(e) इििें से कोई िहीं  
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Q5. निम्ननिनित िें स ेकौि तीसरा सबस ेछोटा ह?ै  

(a) C  

(b) F 

(c) E 

(d) D 

(e) इििें से कोई िहीं  

 

Directions (6-7): िीच ेप्रत्यके प्रश्न िें एक कथि और उसके बाि िो कायवर्ानहयााँ क्रिाकं I और II िी गई हैं। कायवर्ाही, कथि 

िें िी गई जािकारी के आधार पर सिस्या, िीनत इत्यादि के सिंभव िें सधुार, जांच या आग ेकी कायवर्ाही के निए निया जाि े

र्ािा एक किि या प्रशासनिक निर्वय ह।ैआपको कथि िें िी गयी जािकारी को सत्य िाििा ह ैऔर दिर निर्वय कीनजये दक िी 

गई कायवर्ाही िें स ेकौि सी कायवर्ाही अिुसरर् करती ह ैऔर उत्तर िीनजये- 

 

Q6. कथि: शहर की नर्कासहीि नस्थनत का िुख्य कारर् र्े बहुल्य निकाय ह ै नजसिें कोई भी व्यनि शहर के नर्कास का 

उत्तरिानयत्र् िहीं िेता ह।ै   

कायवर्ानहयााँ : 

I. प्रत्येक व्यनि को कतवव्यों का एक सिूह दिया जािा चानहए और ऐसे आर्ंटि िें कोई िोहरार् िहीं होिा चानहए। 

II. अन्य सभी निकायों के कायों को नर्नियनित करिे की शनियों के साथ एक अम्ब्रेिा सनिनत नियुि की जािी चानहए। 

(a) यदि केर्ि I अिुसरर् करती है 

(b) यदि केर्ि II अिुसरर् करती ह ै 

(c) यदि या तो I या II अिुसरर् करती है 

(d) यदि ि तो I ि II अिुसरर् करती है 

(e) यदि I और II िोिों अिुसरर् करती हैं 

 

Q7. कथि: राज्य X िें िादिया सिािांतर सरकार चिा रही ह।ै 

कायवर्ानहयााँ : 

I. सरकार को िादिया सिूह के नििाि सख्त कारवर्ाई करिी चानहए। 

II. राज्य के िोगों को आत्िरक्षा के निए हनथयार प्रिाि दकए जािे चानहए।  

(a) यदि केर्ि I अिुसरर् करती है 

(b) यदि केर्ि II अिुसरर् करती ह ै 

(c) यदि या तो I या II अिुसरर् करती है 

(d) यदि ि तो I ि II अिुसरर् करती है 

(e) यदि I और II िोिों अिुसरर् करती हैं 

 

Q8. यनूिफ़ॉिव ररसोसव िोकेटर (यआूरएि) दकि िाििों िें सेंनसरटर् है?  

(a) प्रोटोकोि  

(b) अथ़ॉररटी  

(c) डायरेक्टरी 

(d) टाइप  

(e) इििें से कोई िहीं  
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Directions (9-13): निम्ननिनित जािकारी का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए गए प्रश्नों के उत्तर िीनजए।  

 

एक शब्ि और संख्या व्यर्स्था िशीि को जब शब्िों और संख्याओं का एक इिपुट दिया जाता ह,ै तो प्रत्येक चरर् िें एक निनित 

नियि का अिुसरर् करते हुए उन्हें व्यर्नस्थत करती ह।ै निम्ननिनित इिपुट और पुिव्यवर्स्था का एक उिहारर् ह:ै  

इिपटु : 30 owl 56 raise 27 egg 23 still 20 holy 15 apple. 

चरर् I: 20 30 owl 56 raise egg 23 still holy 15 apple 27. 

चरर् II: holy 20 30 56 raise egg 23 still 15 apple 27 owl. 

चरर् III: 30 holy 20 56 raise egg still 15 apple 27 owl 23. 

चरर् IV: raise 30 holy 20 56 still 15 apple 27 owl 23 egg. 

चरर् V: 56 raise 30 holy 20 still apple 27 owl 23 egg 15. 

चरर् VI: still 56 raise 30 holy 20 27 owl 23 egg 15 apple. 

उपयुवि व्यर्स्था िें चरर् VI अंनति चरर् ह ै 

दिए गए चरर्ों िें अिुसरर् दकये गए नियिों के अिुसार, दिए गए आउटपुट के निए निम्ननिनित प्रत्येक प्रश्न िें उपयुि चरर् 

ज्ञात कीनजये। 

इिपटु :  call 40 37 ice land 50 25 under ape same 33 18 38 mango 21 open. 

 

Q9. उपयुवि इिपटु को परूा करि ेके निए दकति ेचरर् आर्श्यक हैं?  

(a) आठ                                   

(b) छह                                     

(c) पांच  

(d) सात                                

(e) इििें से कोई िहीं  

 

Q10. पिुव्यवर्स्था के सातर्ें चरर् िें, एक निनित तरीके स े‘call’, ‘38’ स ेसम्ब्बनन्धत ह ै और ‘open’ , ‘33’ स ेसम्ब्बनन्धत ह।ै 

तो सिाि प्रारूप िें ‘land’ स ेकौि सम्ब्बनन्धत होगा?   

(a) mango    

(b) ice 

(c) same      

(d) 40  

(e) 37 

 

Q11. आउटपटु के छठे चरर् िें  ‘under’ और ‘38’ के बीच िें दकतिी सखं्या और शब्ि हैं?     

(a) छह                                          

(b) तीि                            

(c) चार  

(d) पांच                                       

(e) सात  
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Q12. दकस चरर् िें तत्र् ‘call 18 50 ape same 21’ सिाि क्रि िें पाए जात ेहैं?  

(a) पांचर्ें                                     

(b) सातर्ें                                   

(c) चौथे         

(d) छठे                                    

(e) कोई चरर् िहीं ह ै 

 

Q13. निम्ननिनित िें स ेकौि अनंति स ेपहि ेचरर् िें ‘37’ के स्थाि को िशावता ह?ै   

(a) बायें अंत से िौर्ां  

(b) बायें अंत से िसर्ां  

(c) िायें अंत से सातर्ां  

(d) िायें अंत से छठा   

(e) (B) और (C) िोिों  

 

Directions (14-18): निम्ननिनित जािकारी का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए प्रश्नों के उत्तर िीनजए।  

 

एक रेस्टोरेंट िें, आठ व्यनि अथावत् : B, M, T, J, S, V, P और K र्गावकार िेज के चारों ओर बैठे हैं और कें द्र की ओर उन्िुि हैं। 

चार व्यनि कोिे पर बैठे हैं और चार व्यनि र्गावकार िेज की भुजाओं के िध्य बैठे हैं। सभी नित्रों की अिग अिग आयु ह ैिेदकि 

50 र्षव से कि ह।ै र्गावकार िेज के िध्य बैठे व्यनि की आयु 3 का गुर्क ह ैऔर कोिे पर बैठे व्यनि की आयु 2 का गुर्क ह।ै र्ह 

व्यनि नजसकी आयु 9 र्षव ह,ै र्ह J के िायें से िसूरे स्थाि पर बैठा ह।ै 9 र्षव की आयु र्ािे व्यनि और T के बीच िें िो व्यनि 

बैठे हैं नजसकी आयु 10 का गुर्क िहीं ह।ै 27 र्षीय व्यनि, T के ठीक बायें बैठा ह ैऔर 27 र्षीय व्यनि और B के ठीक िायें 

बैठे व्यनि के बीच िें 6 र्षों का अंतर ह।ै 48 र्षीय व्यनि, B के बायें से िसूरे स्थाि पर बैठा ह।ै B, V ठीक िाएं बैठा ह ैनजसकी 

आयु 3 का गुर्क ह।ै M, P के ठीक िायें बैठा ह।ै J और S की आयु का योग 72 र्षव ह।ै P और K के बीच िें तीि व्यनि बैठे हैं 

नजसकी आयु 2 का गुर्क ह।ै 24 र्षीय व्यनि, 40 र्षीय व्यनि के बायें से िसूरे स्थाि पर बैठा ह।ै K के ठीक िायें बैठा व्यनि 

और S के िायें से तीसरे स्थाि पर बैठे व्यनि की आयु का योग 37 र्षव ह।ै  

 

Q14. निम्ननिनित िें स ेकौि 21 र्षीय ह?ै  

(a) V 

(b) J 

(c) M 

(d) S 

(e) कोई िहीं  

 

Q15. 24 र्षीय व्यनि के ठीक बायें बठेै व्यनि के िायें स ेिसूरे स्थाि पर कौि बठैा ह?ै  

(a) B 

(b) S 

(c) T 

(d) M 

(e) J 
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Q16. 9 र्षीय व्यनि और 27 र्षीय व्यनि के बीच िें दकति ेव्यनि बठेै हैं?  

(a) एक  

(b) िो  

(c) तीि  

(d) तीि से अनधक  

(e) इििें से कोई िहीं  

 

Q17. निम्ननिनित िें स ेकौि B के नर्कर्वत:  नर्परीत बठैा ह?ै   

(a) P 

(b) M 

(c) T 

(d) V 

(e) K 

 

Q18. निम्ननिनित िें स ेकौि J के ठीक िायें बठैा ह?ै  

(a) B 

(b) T 

(c) V 

(d) M 

(e) K 

 

Q19. कंप्यटूर ििेरी हाइराकी िें सबस ेपहि ेडाटा कहा ं जाता है?  

(a) RAM 

(b) ROM 

(c) BIOS 

(d) CACHE 

(e) इििें से कोई िहीं  

 

Q20. कंप्यटूर डाटा को स्टोर करि ेऔर गर्िा करि ेके निए _________ िबंर नसस्टि का प्रयोग करता है?  

(a) बाइिरी  

(b) ऑक्टि  

(c) डेसीिि  

(d) हके्साडेसीिि  

(e) इििें से कोई िहीं  
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Directions (21-23): दिए गए प्रत्यके प्रश्नों िें एक प्रश्न है और उसके िीच ेिो कथि सखं्या I और II दिए गए हैं| आपको यह 

निर्वय करिा ह ैदक कथि िें िी जा रही सािग्री उत्तर िेि ेके निए पयावप्त है| िोिों कथिों का अध्ययि कीनजए और उत्तर िीनजये  

 

Q21. T, K स ेदकस प्रकार सम्ब्बनन्धत ह?ै  

I. K, L और J की इकिौती पुत्री ह ै  

II. R की बहि J, T के भाई L से नर्र्ानहत ह,ै जो अपिे िाता-नपता का इकिौता पुत्र ह।ै    

(a) यदि कथि I का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह ैजबदक कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए 

पयावप्त िहीं ह।ै 

(b) यदि कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह ैजबदक कथि I का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए 

पयावप्त िहीं ह।ै 

(c) यदि कथि I का डाटा या कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह।ै 

(d) यदि कथि I और II िोिों का डाटा एक साथ प्रश्नों का उत्तर िेिे के निए पयावप्त िहीं ह।ै 

(e) यदि कथि I और II िोिों का डाटा एक साथ प्रश्नों का उत्तर िेिे के निए आर्श्यक ह।ै 

 

Q22. M, N स ेदकस तरह स ेसम्ब्बनन्धत ह?ै   

I. P, नजसकी िो संताि M और N हैं, Q की सास ह,ै जो N की नसस्टर इि ि़ॉ ह।ै   

II. R, जो M की नसस्टर इि ि़ॉ ह,ै S की पुत्रर्धू ह ैएर्ं उसकी केर्ि िो संताि M और N हैं    

(a) यदि कथि I का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह ैजबदक कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए 

पयावप्त िहीं ह।ै 

(b) यदि कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह ैजबदक कथि I का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए 

पयावप्त िहीं ह।ै 

(c) यदि कथि I का डाटा या कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह।ै 

(d) यदि कथि I और II िोिों का डाटा एक साथ प्रश्नों का उत्तर िेिे के निए पयावप्त िहीं ह।ै 

(e) यदि कथि I और II िोिों का डाटा एक साथ प्रश्नों का उत्तर िेिे के निए आर्श्यक ह।ै 

 

Q23. शिैशे ऑदिस पहुाँचि ेके कौि सी ट्रेि पकड़ता ह?ै  

I. शैिेश 10.40 बजे या इस सिय के बाि की कोई ट्रेि िहीं पकड़ता ह|ै  

II. शैिेश की 10.25 बजे र्ािी सािान्य ट्रेि छूट जाती ह।ै प्रत्येक 5 नििट िें एक ट्रेि आती ह।ै 

(a) यदि कथि I का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह ैजबदक कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए 

पयावप्त िहीं ह।ै 

(b) यदि कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह ैजबदक कथि I का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए 

पयावप्त िहीं ह।ै 

(c) यदि कथि I का डाटा या कथि II का डाटा अकेिे प्रश्नों का उत्तर िेिे के निए पयावप्त ह।ै 

(d) यदि कथि I और II िोिों का डाटा एक साथ प्रश्नों का उत्तर िेिे के निए पयावप्त िहीं ह।ै 

(e) यदि कथि I और II िोिों का डाटा एक साथ प्रश्नों का उत्तर िेिे के निए आर्श्यक ह।ै 
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Directions (24-28): निम्ननिनित जािकारी का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए गए प्रश्नों के उत्तर िीनजए।  

एक निनित कूट भाषा िें, 

‘water earth fixing food’ को ‘id5 tu6 sv5 wu4’ के रूप िें कूटबद्ध दकया ह ै  

‘award no using great’ को ‘lm2 tf5 gt5 wz5’ के रूप िें कूटबद्ध दकया ह ै

‘greatest word likely wastage’ को ‘wd4 bo6 gt8 vd7’ के रूप िें कूटबद्ध दकया ह ै

 

Q24. निम्ननिनित िें स े‘working’ के निए क्या कूट ह?ै  

(a) dl5    

(b) td7    

(c) ot7  

(d) dt5 

(e) इििें से कोई िहीं  

 

Q25. निम्ननिनित िें स ेकौि सा शब्ि ‘vi5’ के रूप िें कूटबद्ध दकया गया ह?ै    

(a) tree  

(b)rainbow 

(c) lavel 

(d) rouge  

(e) tough 

 

Q26. ‘word orange’ के निए क्या कूट होगा?  

(a) lv6 dw4  

(b) wd6 vl4 

(c) wd4 vl6 

(d) vi6 dw4  

(e) इििें से कोई िहीं  

 

Q27. निम्ननिनित िें स ेकौि सा कूट ‘Earth’ के निए ह?ै  

(a) sv5  

(b) zg5  

(c) no5  

(d) hf5  

(e) इििें से कोई िहीं  

 

Q28. ‘Mango’ के निए क्या कूट होगा?  

(a) nl5  

(b) ol5   

(c) gh6  

(d) ln5 

(e) इििें से कोई िहीं  
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Directions (29-33): निम्ननिनित जािकारी का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए गए प्रश्नों के उत्तर िीनजए:  

 

आठ व्यनि A, B, C, D, E, F, G और H एक सीधी रेिा िें बैठे हैं(िेदकि जरुरी िहीं सिाि क्रि िें हो)। उििें से तीि िनक्षर् 

की ओर उन्िुि हैं और शेष उत्तर दिशा की ओर उन्िुि हैं। उि सभी के अपिे िकी िंबर हैं अथावत् : 12, 13, 37, 47, 52, 17, 25 

और 18(जरुरी िहीं सिाि क्रि िें हो)    

F, C के िायें स्थाि पर बैठा ह।ै E का िकी िंबर अभाज्य संख्या ह।ै G और E नर्परीत दिशा की ओर उन्िुि हैं। C का िकी 

िंबर, E के िकी िंबर और F के िकी िंबर का औसत ह।ै B, पंनि के अंनति नसरे से तीसरे स्थाि पर बैठा ह।ै H का िकी िंबर 

िी गयी सभी संख्याओं िें से कि से कि िो संख्याओं से कि ह।ै   C, उत्तर दिशा की ओर उन्ििु िहीं ह।ै G, C और E िोिों का 

निकटति पड़ोसी ह।ै B, िनक्षर् दिशा की ओर उन्िुि ह।ै B का िकी िंबर, G के िकी िंबर से  कि ह ैिेदकि H के िकी िंबर से 

बड़ा ह।ै D, G के िायें से िसूरे स्थाि पर बैठा ह।ै C, B के ठीक बायें बैठा ह।ै H, C से िायें से तीसरे स्थाि पर बैठा ह।ै र्ह 

व्यनि जो कोिे पर बैठा ह,ै उसका िकी िंबर अभाज्य संख्या ह।ै सभी नित्र जो D के बायें स्थाि पर बैठे हैं, उिका िकी िंबर, D 

के िकी िंबर से  कि ह।ै E का िकी िंबर, िी गयी सभी संख्याओं िें से कि से कि तीि संख्याओं से बड़ा ह।ै र्ह व्यनि नजसका 

िकी िंबर 17 ह,ै र्ह D के ठीक िायें और F के ठीक बायें िहीं बैठा ह ै।       

 

Q29. निम्ननिनित िें स ेकौि उस व्यनि के बायें स ेिसूरे स्थाि पर बठैा ह ैनजसका िकी िबंर 52 ह?ै  

(a) र्ह व्यनि नजसका िकी िंबर 13 ह ै 

(b) (C) और (E) िोिों  

(c) G 

(d) इििें से कोई िहीं  

(e) र्ह व्यनि नजसका िकी िंबर 18 ह ै 

 

Q30. C का िकी िबंर क्या ह?ै  

(a) 12 

(b) 47 

(c) 37 

(d) 25 

(e) इििें से कोई िहीं  

 

Q31. निम्ननिनित िें स ेकौि उस व्यनि के िायें स ेतीसरे स्थाि पर बठैा ह ैनजसका िकी िबंर 25 ह?ै  

(a) B 

(b) C 

(c) A 

(d) H 

(e) इििें से कोई िहीं  

 

Q32. र्ह व्यनि नजसका िकी िबंर 37 ह ैउसके सिंभव िें F का स्थाि क्या ह?ै  

(a) बायें से िसूरा  

(b) बायें से तीसरा  

(c) िायें से िसूरा  

(d) िायें से चौथा  

(e) इििें से कोई िहीं  
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Q33. C, दकस दिशा की ओर उन्ििु ह?ै   

(a) उत्तर  

(b) िनक्षर्  

(c) D नजस दिशा की ओर उन्िुि ह ैउसी दिशा की ओर  

(d) (A) और (C) िोिों सत्य हैं  

(e) कोई सत्य िहीं ह ै 

 

Directions (34-36): िीच ेदिए गए प्रत्यके प्रश्न िें िो कथि (A) और (B) हैं। य ेकथि या तो स्र्ततं्र कारर् हो सकत ेहैं या 

स्र्ततं्र कारर् या सिान्य कारर् के प्रभार् हो सकत ेहैं। इि कथिों िें स ेएक अन्य कथि का प्रभार् हो सकता ह।ै िोिों कथिों को 

ध्यािपरू्वक पदिए और निर्वय कीनजय ेदक निम्न उत्तर नर्कल्पों िें स ेकौि सा इि िोिों कथिों के बीच सबंधं को िशावता ह।ै   

उतर िीनजय:े 

 

Q34. (A) भारत िे ऑस्टे्रनिया को हराकर ह़ॉकी चैंनपयिनशप िें स्र्र्व पिक और ट्ऱॉिी जीती ।  

(B) डाटो िुस्तिा िे नर्जेताओं को ट्ऱॉिी िी।  

(a) यदि कथि (A) प्रभार् ह ैऔर कथि (B) उसका कारर् ह ै 

(b) यदि कथि (A) कारर् ह ैऔर कथि (B) प्रभार् ह ै 

(c) यदि कथि (A) प्रभार् ह ैिेदकि कथि (B) कारर् िहीं हैं 

(d) यदि कथि (B) प्रभार् ह ैिेदकि कथि (A) इसका कारर् िहीं ह ै   

(e) यदि िोिों कथि (A) और (B) स्र्तंत्र कारर् हैं 

 

Q35. (A) बार काउंनसि ऑि इंनडया (बीसीआई) िे आिे र्ािे शैनक्षक सत्र से िेश िें सभी इर्निंग ि़ॉ क़ॉिेजों को बंि करिे का 

आिेश दिया ह।ै 

(B) राज्य िें इर्निंग ि़ॉ क़ॉिेजों िें नशक्षा के स्तर िें नगरार्ट पाई गयी ह।ै  

(a) यदि कथि (A) प्रभार् ह ैऔर कथि (B) उसका कारर् ह ै 

(b) यदि कथि (A) कारर् ह ैऔर कथि (B)  प्रभार् ह ै 

(c) यदि कथि (A) प्रभार् ह ैिेदकि कथि (B) कारर् िहीं हैं 

(d) यदि कथि (B) प्रभार् ह ैिेदकि कथि (A) इसका कारर् िहीं ह ै   

(e) यदि िोिों कथि (A) और (B) स्र्तंत्र कारर् हैं 

 

Q36. (A) नर्त्त िंत्रािय िे अनतररि कराधाि िगाया ह।ै  

(B) िेश के राजकोषीय घाटे को कि कर दिया गया ह।ै  

(a) यदि कथि (A) प्रभार् ह ैऔर कथि (B) उसका कारर् ह ै 

(b) यदि कथि (A) कारर् ह ैऔर कथि (B)  प्रभार् ह ै 

(c) यदि कथि (A) प्रभार् ह ैिेदकि कथि (B) कारर् िहीं हैं 

(d) यदि कथि (B) प्रभार् ह ैिेदकि कथि (A) इसका कारर् िहीं ह ै   

(e) यदि िोिों कथि (A) और (B) स्र्तंत्र कारर् हैं 
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Q37. ििेोरी यनूिट दकसका एक भाग ह?ै  

(a) इिपुट नडर्ाइस  

(b) कंट्रोि यूनिट  

(c) आउटपुट नडर्ाइस  

(d) सेंट्रि प्रोसेनसंग यूनिट  

(e) इििें से कोई िहीं  

 

Directions (38-42): िीच ेदिए गए प्रत्यके प्रश्न िें, कुछ कथि दिए गए हैं नजिके बाि कुछ निष्कषव दिए गए हैं। आपको दिए 

गए सभी कथिों को सत्य िाििा ह ैभि ेही र् ेसर्वज्ञात तथ्यों स ेनभन्न प्रतीत होत ेहों और इसके बाि निर्वय ििेा ह ैदक दिया 

गया कौि सा निष्कषव कथिों िें िी गई जािकारी का तार्कव क रुप स ेअिसुरर् करत ेहैं। उत्तर िीनजए  

 

Q38. कथि :  

सभी नरक्स, स्टोंस हैं   

कुछ स्टोंस, ऱॉक्स हैं  

सभी ऱॉक्स, िाउंटेन्स हैं  

निष्कषव :   

I. कुछ िाउंटेन्स कभी भी नरक्स िहीं हो सकते हैं   

II. सभी स्टोंस, िाउंटेन्स हो सकते हैं  

(a) यदि केर्ि निष्कषव I अिुसरर् करता ह ै 

(b) यदि केर्ि निष्कषव II अिुसरर् करता ह ै 

(c) यदि या तो निष्कषव I या II अिुसरर् करता ह ै 

(d) यदि ि तो निष्कषव I ि II अिुसरर् करता ह ै 

(e) यदि निष्कषव I और II िोिों अिुसरर् करते हैं 

 

Q39. कथि :  

कुछ रेनडयो, टेिीिोि हैं     

सभी टेिीिोि, निरर हैं   

सभी निरर, डेस्क हैं   

निष्कषव :   

I. कुछ रेनडयो, निरर हो सकते हैं     

II. सभी डेस्क कभी भी  टेिीिोि िहीं हो सकते हैं   

(a) यदि केर्ि निष्कषव I अिुसरर् करता ह ै 

(b) यदि केर्ि निष्कषव II अिुसरर् करता ह ै 

(c) यदि या तो निष्कषव I या II अिुसरर् करता ह ै 

(d) यदि ि तो निष्कषव I ि II अिुसरर् करता ह ै 

(e) यदि निष्कषव I और II िोिों अिुसरर् करते हैं 
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Q40. कथि:   

सभी ििीचर, जंगि हैं     

कोई जंगि, रोड िहीं ह ै  

कुछ रोड, नहल्स हैं     

निष्कषव :   

I. कुछ नहल्स, जंगि िहीं हो सकते हैं    

II. कोई नहल्ि, जंगि िहीं ह ै   

(a) यदि केर्ि निष्कषव I अिुसरर् करता ह ै 

(b) यदि केर्ि निष्कषव II अिुसरर् करता ह ै 

(c) यदि या तो निष्कषव I या II अिुसरर् करता ह ै 

(d) यदि ि तो निष्कषव I ि II अिुसरर् करता ह ै 

(e) यदि निष्कषव I और II िोिों अिुसरर् करते हैं 

 

Q41. कथि:   

सभी नर्न्डो, बोट हैं   

सभी बोट, डोर हैं   

सभी डोर, नबनल्डंग हैं     

निष्कषव :   

I. सभी बोट, नबनल्डंग िहीं हो सकती हैं   

II. सभी डोर कभी भी नर्न्डो िहीं हो सकते हैं   

(a) यदि केर्ि निष्कषव I अिुसरर् करता ह ै 

(b) यदि केर्ि निष्कषव II अिुसरर् करता ह ै 

(c) यदि या तो निष्कषव I या II अिुसरर् करता ह ै 

(d) यदि ि तो निष्कषव I ि II अिुसरर् करता ह ै 

(e) यदि निष्कषव I और II िोिों अिुसरर् करते हैं 

 

Q42. कथि :   

सभी हाउस, व्हील्स हैं   

कुछ व्हील्स, ट्री हैं     

कोई ट्री, प्िांट िहीं ह ै    

निष्कषव :   

I. कोई हाउस, प्िांट िहीं ह ै  

II. सभी व्हील्स कभी भी प्िांट िहीं हो सकते हैं   

(a) यदि केर्ि निष्कषव I अिुसरर् करता ह ै 

(b) यदि केर्ि निष्कषव II अिुसरर् करता ह ै 

(c) यदि या तो निष्कषव I या II अिुसरर् करता ह ै 

(d) यदि ि तो निष्कषव I ि II अिुसरर् करता ह ै 

(e) यदि निष्कषव I और II िोिों अिुसरर् करते हैं 
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Q43. इंटरिेट का प्रयोग करि ेके निए सिे िोि ____________ का उपयोग करत ेहैं?  

(a) एिएिएस टेक्नोि़ॉजी  

(b) ए िोटेशि नसस्टि  

(c) िाइक्रो राउज़र स़ॉफ्टर्ेर  

(d) एचटीएिएि िैंग्र्ेज  

(e) इििें से कोई िहीं  

 

Directions (44-48): निम्ननिनित जािकारी का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए गए प्रश्नों के उत्तर िीनजए।  

 

सात व्यनि A, B, C, D, E, F और G हैं और र्े अिग अिग रंग पसंि करते हैं अथावत् : िाि, हरा, पीिा, िीिा, गुिाबी, भूरा  

और कािा(जरुरी िहीं सिाि क्रि िें हो)।  साथ ही र्ह अिग अिग शहर से सम्ब्बनन्धत हैं अथावत् : यूपी, िध्यप्रिशे, आंध्रप्रिेश., 

नहिाचि प्रिेश, नबहार,पनिि ब. और उत्तरािंड, िेदकि जरुरी िहीं सिाि क्रि िें हो।  र्े सभी सोिर्ार से आरम्ब्भ करते हुए 

रनर्र्ार तक  अिग-अिग दििों िें छुट्टी पर जाते हैं(जरुरी िहीं सिाि क्रि िें हो)।   

पीिा रंग पसंि करिे र्ािा व्यनि, िंगिर्ार और रनर्र्ार को िहीं जाता ह।ै A ि तो नहिाचि प्रिेश ि िध्य प्रिेश से ह।ै  G, 

कािा रंग पसंि करता ह।ै या तो C या D, एपी से सम्ब्बनन्धत ह।ै भूरा रंग पसंि करिे र्ािा व्यनि, शुक्रर्ार को जाता ह।ै नबहार 

से सम्ब्बनन्धत व्यनि, बृहस्पनतर्ार को जाता ह।ै B, यूपी से सम्ब्बनन्धत ह ैऔर F, गुिाबी रंग पसंि करता ह।ै नहिाचि प्रिेश से 

सम्ब्बनन्धत व्यनि, िीिा रंग पसंि करता ह।ै  D और C िोिों, एचपी से सम्ब्बनन्धत िहीं हैं। E, िंगिर्ार को िहीं जाता ह।ै 

िध्यप्रिेश  से सम्ब्बनन्धत व्यनि, िाि रंग पसंि करता ह।ै  उत्तरािंड से सम्ब्बनन्धत व्यनि, कािा और गुिाबी रंग पसंि िहीं 

करता ह।ै उत्तरािंड से सम्ब्बनन्धत व्यनि भूरा और पीिा रंग पसंि िहीं करता ह।ै C और D भूरा रंग पसंि िहीं करते हैं। F, 

पनिि ब.  से सम्ब्बनन्धत िहीं ह।ै D, पीिा रंग पसंि िहीं करता ह ैिेदकि सोिर्ार को जाता ह।ै हरा रंग पसंि करिे र्ािा 

व्यनि, शनिर्ार को जाता ह।ै  

 

Q44. F, निम्ननिनित िें स ेकौि स ेशहर स ेसम्ब्बनन्धत ह ैऔर छुरट्टयों पर दकस दिि जाता ह?ै  

(a) िध्यप्रिेश, बुधर्ार  

(b) आंध्रप्रिेश, बृहस्पनतर्ार 

(c) नबहार, बुधर्ार  

(d) नबहार, बृहस्पनतर्ार  

(e) इििें से कोई िहीं  

 

Q45. िाि रंग पसिं करि ेर्ािा व्यनि, निम्ननिनित िें स ेकौि स ेशहर स ेसम्ब्बनन्धत ह?ै  

(a) उत्तरािंड  

(b) िध्यप्रिेश 

(c) नबहार  

(d) आंध्रप्रिेश  

(e) इििें से कोई िहीं  
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Q46. निम्ननिनित िें स ेकौि पीिा रंग पसिं करता ह?ै  

(a) D  

(b) A  

(c) G  

(d) C 

(e) इििें से कोई िहीं  

 

Q47. निम्ननिनित िें स ेकौि सा कथि सत्य ह?ै  

(a) C, िाि रंग पसंि करता ह ै  

(b) B, पीिा रंग पसंि करता ह ै  

(c) E, रनर्र्ार को छुरट्टयों पर जाता ह ै  

(d) G, पीिा रंग पसंि करता ह ै  

(e) G रनर्र्ार को छुरट्टयों पर जाता ह ै 

 

Q48. D, निम्ननिनित िें स ेकौि सा रंग पसिं करता ह?ै  

(a) िाि  

(b) गुिाबी  

(c) पीिा  

(d) कािा  

(e) इििें से कोई िहीं  

 

Q49. एक कक्षा िें, A शीषव स ेछठे स्थाि पर ह ैऔर B, ति स ेअठारहर्ें स्थाि पर ह।ै C, A स े14 स्थाि िीच ेह ैऔर B स े16 

स्थाि ऊपर ह।ै कक्षा िें दकति ेनर्द्याथी हैं?   

(a) 53 

(b) 54 

(c) 52 

(d) 50 

(e) इििें से कोई िहीं  

 

Q50. एक निनित कूट भाषा िें, शब्ि ‘INCUMBENT’ को ‘TCNBMUNEI’ नििा जाता ह।ै इस कूट भाषा िें शब्ि 

‘PUBLISHED’ को क्या नििा जाएगा?     

(a) DUBSILEHP 

(b) DBULISEHP 

(c) DUBILSEHP 

(d) DBUSILEHP 

(e) इििें से कोई िहीं  
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Directions (51-55): िीचे दिए गए पाई-चाटव िें, परू्व िलू्य या नडग्री िाि के रूप िें, छह गार्ों िें साक्षर व्यनियों की सखं्या 

के नर्तरर् को िशावया गया ह।ै 

 

िीचे िी गई तानिका िें र्ह प्रनतशत िाि िशावया गया ह ैनजसके द्वारा निरक्षर व्यनि, साक्षर व्यनियों से अनधक या कि ह।ै  

िोट : गााँर् B और D के नडग्री िाि के बीच का अंतर 28° ह।ै  

 

 
 

Q51. गााँर्  B और  E िें नििाकर ,निरक्षर व्यनियों की कुि सखं्या ज्ञात कीनजए ? 

(a) 11150 
(b) 10105 
(c) 11105 
(d) 11050 
(e) 10050 
 

Q52. गााँर् A के निरक्षर व्यनियों की सखं्या, सभी गारं्ों के नििाकर साक्षर व्यनियों की कुि सखं्या का िगभग दकति ेप्रनतशत 

है?  

(a) 25.3% 
(b) 23.5% 
(c) 24.6% 
(d) 22.4% 
(e) 28.6% 
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Q53. गााँर् A और D के नििाकर, साक्षर व्यनियों की कुि सखं्या तथा गााँर् F और B के नििाकर, साक्षर व्यनियों की कुि 

सखं्या के बीच का अिपुात ज्ञात कीनजए। 

(a) 65 : 51 

(b) 51 : 76 

(c) 56 : 51 

(d) 51 : 56 

(e) इििें से कोई िहीं  

 

Q54. यदि गााँर् F िें कुि निरक्षर व्यनियों की सखं्या का 15/26 भाग परुुष हैं, जबदक सिाि गााँर् िें कुि साक्षर व्यनियों की 

सखं्या का 13/22 भाग परुुष हैं, तो गााँर् F िें परुुषों की कुि सखं्या ज्ञात कीनजए। 

(a) 5870 

(b) 8680 

(c) 6860 

(d) 8750 

(e) 8570 

 

Q55. गााँर् B, C, D और E के नििाकर साक्षर व्यनियों की सखं्या का औसत (नडग्री िािों के सिंभव िें) दकतिा है?  

(a) 55.4° 

(b) 56.8° 

(c) 54.5° 

(d) 52.5° 

(e) इििें से कोई िहीं  

 

Q56. A, B और C एक साझिेारी करत ेहैं और कुछ धिरानश निर्शे करत ेहैं। एक र्षव बाि, A अपि ेनिर्शे को िगुिुा कर िेता 

ह,ै B अपि ेनिर्शे िें 33
𝟏

𝟑
% की र्नृद्ध करता ह ैऔर C अपि ेनिर्शे िें 20% की र्नृद्ध करता ह।ै तीसरे र्षव िें, A और B अपिी 

निर्शे की गई धिरानश निकाि िते ेहैं तथा D, C के साथ साझिेारी िें शानिि होता ह।ै तीि र्षव के अतं िें उन्हें िाभ 12 : 14 : 

17 : 8 (A : B : C : D) के अिुपात िें प्राप्त होता ह।ै यदि B और C के आरंनभक निर्शे के बीच का अतंर 1150 रु. ह,ै तो A और 

D द्वारा नििाकर दकया गया कुि आरंनभक निर्शे ज्ञात कीनजए।      

(a) 12100 

(b) 14400 

(c) 13800 

(d) 15000  

(e) इििें से कोई िहीं  

 

Q57. X और Y नििकर एक कायव को 10 दिि िें परूा कर सकत ेहैं। Z सिाि कायव को 28 दििों िें िष्ट कर सकता ह।ै X और Y 

कायव करिा आरंभ करत ेहैं तथा 12 दिि के निए कायव करत ेहैं साथ ही Z 12 दिि के निए कायव को िष्ट करिा आरंभ करता ह।ै 

इसके बाि X और Z कायव करिा छोड़ िेत ेहैं तथा शषे कायव को Y 4 दिि िें परूा करता ह।ै सिाि कायव को X अकेि ेदकति ेदििों 

िें परूा कर सकता है?   
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(a) 23
2

3
 दिि  

(b) 23 दिि  

(c) 20 दिि  

(d) 15 दिि  

(e) 23
1

3
 दिि  

 

Q58. एक िकुाििार एक र्स्त ुको अदंकत िलू्य पर 10% छूट पर बचेता ह।ै र्ह पाता ह ैदक उसे 16
𝟐

𝟑
% का िाभ हुआ ह,ै िदेकि 

क्रय िलू्य पर िाभ की गर्िा करि ेकी बजाय, र्ह क्रय िलू्य और नर्क्रय िलू्य के योग पर िाभ की गर्िा करता ह।ै यदि र्स्त ु

का क्रय िलू्य 1350 रु. ह ैतो अदंकत िलू्य ज्ञात कीनजए।  

(a) 2100 

(b) 2300 

(c) 1890 
(d) 1500 

(e) इििें से कोई िहीं  
 

Q59. एक िार् धारा के अिकूुि 75 दक.िी. की यात्रा तय करि ेिें उतिा ही सिय ितेी ह,ै नजतिा धारा के प्रनतकूि 60 दक.िी. 

की यात्रा तय करि ेिें ितेी ह।ै धारा के अिकूुि िार् की गनत, शांत जि िें िार् की गनत का दकति ेप्रनतशत ह?ै   

(a) 111
1

9
% 

(b) 112
1

2
% 

(c) 113% 

(d) 140% 

(e) इसिें से कोई िहीं 
 

Q60. एक धिरानश पर 4 र्षव के निए साधारर् ब्याज की 11% की िर स ेअर्जवत ब्याज, सिाि धिरानश को चक्रर्नृद्ध ब्याज 

पर एक योजिा िें 2 र्षव के निए निर्शे करि ेपर अर्जवत ब्याज के बराबर ह।ै यदि 3 र्षों के निए चक्रर्नृद्ध ब्याज पर अर्जवत 

ब्याज 10920रु. है, तो आरंभ िें निर्शे की गयी धिरानश ज्ञात कीनजए। 

(a) 9200 

(b) 10500 
(c) 15000 
(d) 11000 

(e) इििें से कोई िहीं  
 

Directions (61-65): निम्ननिनित सखं्या श्ृिंिा िें प्रश्नर्ाचक नचह्ि (?) के स्थाि 

पर क्या आिा चानहए?  

 

Q61. 461,      474 ,        465   ,      478 ,         469   ,      ? 
(a) 460 
(b) 482 

(c) 456 
(d) 478 

(e) इििें से कोई िहीं  
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Q62. 18, 27, 9, 36, 0, ? 

(a) 27 

(b) 36 

(c) 45 

(d) 54 

(e) 63 

 

Q63. 482, 243, ?, 25, 10 

(a) 75 

(b) 78 

(c) 80 

(d) 81 

(e) 84 

 

Q64. 620, 632, 608, 644, 596, ? 

(a) 536 

(b) 556 

(c) 656 

(d) 646 

(e) इििें से कोई िहीं  

 

Q65. 120, 320, ?, 2070, 5195, 13007.5 

(a) 800 

(b) 920 

(c) 850 

(d) 900 

(e) इििें से कोई िहीं  

 

Q66. तीि कंटेिर A, B और C की क्षिता का अिपुात क्रिशः 6 : 8 : 7 ह।ै इि तीि कंटेिरों िें तीि प्रकार के द्रर् X, Y और Z 

को क्रिशः 2 : 3 : 1 (कंटेिर-A िें), 1 : 2 : 5 (कंटेिर-B िें), 3 : 1 : 3 (कंटेिर-C िें) के अिपुात िें नििाया जाता ह।ै इि तीिों 

कंटेिरों स ेसिाि िात्रा निकाि कर एक चौथ ेकंटेिर-D िें नििाई जाती ह।ै कंटेिर-D िें द्रर्-Y की िात्रा, द्रर्-X की िात्रा स े

1/8 िीटर अनधक ह।ै प्रत्यके कंटेिर स ेनिकािी गई िात्रा ज्ञात कीनजए।   

(a) 24 

(b) 35 

(c) 21 

(d) 20 

(e) इििें से कोई िहीं  
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Q67. एक बस-X, नबिं ुP स ेQ के निए अपिी यात्रा आरंभ करती है, उसी सिय एक अन्य बस-Y, नबिं ुQ स ेP के निए अपिी 

यात्रा आरंभ करती है, र् ेअपिे अपि ेगतंव्य पर 3 घटंे के बाि पहुचंती ह।ै बस-X पहि ेघटंे िें 40 दक.िी./घ.ं की गनत स ेयात्रा 

करती है, िसूरे घटंे िें 50 दक.िी./घ.ं स ेऔर तीसरे घटंे िें 60 दक.िी./घ.ं की गनत स ेयात्रा करती ह।ै बस-Y पहि ेपहि ेघटंे िें 60 

दक.िी./घ.ं, िसूरे घटंे िें 40 दक.िी./घ.ं और अनंति घटंे िें 50 दक.िी./घ.ं  की गनत स ेयात्रा करती ह।ै Q और नजस स्थाि पर 

िोिों बसें एक-िसूरे को पार करती हैं उिके बीच की िरूी ज्ञात कीनजए।  

(a) 87 

(b) 88 

(c) 89 

(d) 82
2

9
 

(e) 87
7

9
 

 

Q68. दििशे और पकंज िो प्रकार की परीक्षा (िटे और गटे) िेत ेहैं। िटे-परीक्षा िें दििशे और पकंज द्वारा प्राप्त औसत अकं 60 हैं 

तथा इिके द्वारा गटे-परीक्षा िें प्राप्त औसत अकं 32
𝟏

𝟐
 हैं। यदि पकंज गटे-परीक्षा की तिुिा िें, िटे-परीक्षा िें िगुिु ेअकं प्राप्त करता 

ह ैतथा दििशे गटे-परीक्षा की तिुिा िें, िटे-परीक्षा िें 66
𝟐

𝟑
% अनधक अकं प्राप्त करता ह,ै तो िोिों परीक्षाओं िें दििशे द्वारा प्राप्त 

अकंों तथा पंकज द्वारा िोिों परीक्षाओं िें प्राप्त अकंों के बीच का अतंर ज्ञात कीनजए।  

(a) 20 

(b) 24 

(c) 23 

(d) 25 

(e) 28 

 

Q69. िो प्रर्नेशका पाइप एक टंकी को 10 घटंों िें भर सकत ेहैं तथा सिाि क्षिता के 3 निकासी पाइप, सिाि टंकी को 40 घटंों 

िें िािी कर सकत े हैं। यदि केर्ि िो प्रर्नेशका पाइपों का प्रयोग दकया जाता ह ै तो पािी के स्तर को नस्थर रिि े के निए 

आर्श्यक निकासी पाइपों की सखं्या ज्ञात कीनजए। 

(a) 9 

(b) 12 

(c) 15 

(d) 8 

(e) इििें से कोई िहीं  

 

Q70. एक िकुाििार के पास िो प्रकार के चार्ि हैं। प्रकार-1 के चार्ि, प्रकार-2 के चार्िों की तिुिा िें  20% अनधक िहगं े

हैं। र्ह इि िोिों प्रकार के चार्िों को एक निनित अिपुात िें नििाता ह ैतथा निश्र् का िलू्य, प्रकार-2 के चार्िों के क्रय िलू्य 

स े10% अनधक अदंकत करता ह।ै पूरे निश्र् को बचेि ेपर उसे  100/43% िाभ प्राप्त होता ह।ै प्रकार-1 और प्रकार-2 के चार्िों 

को दकस अिपुात िें नििाया गया?   

(a) 3 : 5 

(b) 2 : 5 

(c) 5 : 7  

(d) 3 : 4 

(e) इििें से कोई िहीं  
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Q71. B की कायव-क्षिता C स ेनतगिुी हैं। B और C एक कायव को 45/2 दिि िें परूा कर सकत े हैं। A इस कायव को पूरा करि ेिें, 

A और B द्वारा नििकर सिाि कायव को परूा करि ेिें िग ेदििों स,े 50% अनधक दिि ितेा ह।ै  

िात्रा 1: उििें से तीव्र गनत से कायव करिे र्ािे व्यनि द्वारा अकेिे कायव पूरा करिे के निए, निए गए दििों की संख्या।  

िात्रा 2: A और C द्वारा नििकर कायव पूरा करिे िें िगा सिय।  

(a) िात्रा I > िात्रा II   

(b) िात्रा I < िात्रा II  

(c) िात्रा I ≥ िात्रा II  

(d) िात्रा I ≤ िात्रा II  

(e) िात्रा I = िात्रा II या कोई संबंध िहीं ह ै 

 

Q72. िात्रा I→ यदि नर्क्रय िूल्य और क्रय िूल्य के बीच का अंतर 600 का 117
2

3
% ह,ै तो एक र्स्तु को बेचिे पर अर्जवत िाभ 

(रु. िें) । 

िात्रा II→ यदि र्स्तु का नर्क्रय िूल्य 1000रु. ह ैऔर र्स्तु को बेचिे पर 25% िाभ प्राप्त करता ह,ै तो र्स्तु का क्रय िुल्य (रु. 

िें)।  

(a) िात्रा I > िात्रा II   

(b) िात्रा I < िात्रा II   

(c) िात्रा I  िात्रा II   

(d) िात्रा I = िात्रा II   

(e) कोई संबंध िहीं ह ै 

 

Q73. िात्रा I → –21x³y³, िात्रा II → 11x⁴y³, यदि x > 0 और y < 0 

(a) िात्रा I > िात्रा II 

(b) िात्रा I < िात्रा II  

(c) िात्रा I ≤ िात्रा II 

(d) िात्रा I = िात्रा II या कोई संबंध िहीं ह ै   

(e) िात्रा I ≥ िात्रा II  

 

Q74. एक 7 स.ेिी. के दकिारे र्ाि ेिकड़ी के घि िें स,े सबस ेबड़ा सभंानर्त िबं र्तृीय बिेि काटा जाता ह।ै  

िात्रा I: बेिि काटिे के बाि, शेष घि का आयति।   

िात्रा II: बेिि काटिे के बाि शेष घि का पृष्ठ के्षत्रिि।  

िोट : िोिों िात्राओं के पररिार् की तुििा कीनजये।  

(a) िात्रा I > िात्रा II   

(b) िात्रा I < िात्रा II  

(c) िात्रा I ≥ िात्रा II  

(d) िात्रा I ≤ िात्रा II  

(e) िात्रा I = िात्रा II या कोई संबंध िहीं ह ै 

 



21 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website:store.adda247.com | Email:ebooks@adda247.com 

 

Q75. िात्रा 1: सबसे अनधक और सबसे कि धिरानश के बीच अंतर। 1440रु. की एक धिरानश को तीि भागों िें इस प्रकार 

उधार दिया जाता ह ैदक पहिे भाग पर 3 र्षों के निए 2% ब्याज िर से अर्जवत ब्याज, िसूरे भाग पर 4 र्षों के निए 3% ब्याज 

िर से अर्जवत ब्याज और तीसरे भाग पर 5 र्षों के निए 4% ब्याज िर से अर्जवत ब्याज बराबर ह।ै     

िात्रा 2: 460  

(a) िात्रा I > िात्रा II   

(b) िात्रा I < िात्रा II  

(c) िात्रा I ≥ िात्रा II  

(d) िात्रा I ≤ िात्रा II  

(e) िात्रा I = िात्रा II या कोई संबंध िहीं ह ै 

 

Directions (76-80): िीच ेिी गई तानिका िें, एक नर्द्यािय की 5 नर्नभन्न कक्षाओं स े नर्द्यार्थवयों की सखं्या के प्रनतशत 

नर्तरर् को िशावया गया ह,ै जो र्षव 2016 िें आयोनजत र्ार्षवक परीक्षा िें नर्नभन्न नर्षयों िें अितु्तीर्व हुए थ।े    

 
िोट : परीक्षा िें केर्ि 6 नर्षयों को संघरटत दकया गया ह।ै  

 

Q76. यदि कक्षा VII और VIII िें कि स ेकि 3 नर्षयों िें अितु्तीर्व होि ेर्ाि ेनर्द्यार्थवयों की सखं्या क्रिशः 36 और 72 ह,ै तो 

िोंिो कक्षाओं स ेकुि नििाकर ज्यािा स ेज्यािा 2 नर्षयों िें अितु्तीर्व होि ेर्ाि ेनर्द्यार्थवयों की औसत संख्या ज्ञात कीनजए।      

(a) 21 

(b) 14 

(c) 28 

(d) 18 

(e) 22 

 

Q77. यदि कक्षा IX िें, 94 नर्द्याथी ज्यािा स ेज्यािा 3 नर्षयों िें अिुत्तीर्व हुए तथा कक्षा VII िें 14 नर्द्याथी कि स ेकि 3 

नर्षयों िें अितु्तीर्व हुए थ,े तो कक्षा VII िें अितु्तीर्व हुए नर्द्यार्थवयों की कुि सखं्या का, कक्षा IX िें अितु्तीर्व हुए नर्द्यार्थवयों की 

कुि सखं्या स ेअिपुात ज्ञात कीनजए।  

(a) 3 : 5 

(b) 4 : 3 

(c) 3 : 4 

(d) 2 : 3 

(e) इििें से कोई िहीं  
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Q78. यदि 1 नर्षय और 6 नर्षयों िें अितु्तीर्व हुए नर्द्यार्थवयों की सखं्या के बीच का अतंर 21 ह,ै तो कक्षा V िें ज्यािा स ेज्यािा 

5 नर्षयों िें अिुत्तीर्व हुए नर्द्यार्थवयों की सखं्या तथा कि से कि 3 नर्षयों िें अिुत्तीर्व हुए नर्द्यार्थवयों की सखं्या के बीच का 

अतंर ज्ञात कीनजए।  

(a) 65 

(b) 68 

(c) 66 
(d) 72 

(e) इििें से कोई िहीं  

 

Q79. यदि प्रत्येक कक्षा िें 200 नर्द्याथी अितु्तीर्व हुए, तो दकस कक्षा िें ज्यािा से ज्यािा 3 नर्षयों िें अिुत्तीर्व होि ेर्ाि े

नर्द्यार्थवयों की सखं्या, िसूरी सबस ेकि थी?  

(a) VI 
(b) IX 

(c) VIII 
(d) VII 

(e) इििें से कोई िहीं  

 

Q80. यदि यह ज्ञात ह ैदक कक्षा V िें ज्यािा स ेज्यािा 2 नर्षयों िें अिुत्तीर्व हुए नर्द्यार्थवयों की सखं्या, कक्षा VIII िें ज्यािा स े

ज्यािा 2 नर्षयों िें अितु्तीर्व हुए नर्द्यार्थवयों की सखं्या के बराबर ह ैतथा साथ ही, कक्षा VIII िें 5 नर्षयों िें अितु्तीर्व होि ेर्ाि े

नर्द्यार्थवयों की सखं्या 50 ह,ै तो कक्षा V िें अितु्तीर्व हुए नर्द्यार्थवयों की कुि सखं्या ज्ञात कीनजए। 

(a) 156 

(b) 140 
(c) 138 

(d) 145 
(e) 142 
 

Q81. एक ट्रेि नजसिें 6 नडब्ब ेऔर एक इंजि ह,ै नजस े15 नडब्बों और 2 इंजि से बिाया गया ह।ै ट्रेि िें 6 AC नडब्बों िें स े4 

AC नडब्ब ेहोि ेचानहए। ट्रेि बिाि ेके तरीकों की सखं्या ज्ञात कीनजए। 

(a) 1540 
(b) 1200 
(c) 1080 

(d) 1008 

(e) 1440 

 

Q82. शिब के पास 3 ब़ॉक्स और 3 प्रकार की गेंिे (हरी, िाि और िीिी) हैं। हरी गेंिों की कुि सखं्या 24 ह ैऔर िाि गेंिों की 

कुि सखं्या, िीिी गेंिों की कुि सखं्या की िगुिुी हैं, तो हरी गेंिों को ब़ॉक्स-1, ब़ॉक्स-2 और ब़ॉक्स-3 िें 1 : 2 : 5 के अिुपात िें 

रिा जाता है, तथा िाि और िीिी िोिों गेंिों को क्रिशः 2 : 4 : 3 के अिपुात िें रिा जाता ह।ै यदि िाि गेंिे, गेंिों की कुि 

सखं्या का  600/17% ह,ै तो दकसी भी ब़ॉक्स िें स ेएक हरी गेंि का चयि करि ेकी प्रानयकता ज्ञात कीनजए।  

(a) 31/72 
(b) 42/97 

(c) 23/49 
(d) 33/56 

(e) इििें से कोई िहीं  
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Q83. एक ट्रेि एक िम्ब्ब ेको 24 सेकण्ड िें पार करता ह।ै सिाि िम्ब्बाई की िसूरी ट्रेि, प्िटेिािव को, पहिी ट्रेि की गनत की 

तिुिा िें 20% अनधक गनत से, 30 सकेण्ड िें पार करती ह।ै ट्रेि की िम्ब्बाई और प्िटेिािव की िम्ब्बाई का अिपुात ज्ञात कीनजए।  

(a) 2 : 1 

(b) 3 : 1 

(c) 2 : 3 

(d) 3 : 2 

(e) 1 : 2 

 

Q84. एक कंपिी िें प्रबधंक के पि के निए ितिाि होता ह।ै चिुार् िें िो प्रत्याशी भाग ितेे हैं और इि िोिों प्रत्यानशयों को छोड़ 

कर, कायाविय के सभी किवचाररयों के ित को नगिा जाता ह।ै 10% किवचाररयों के अिुपनस्थत होिे के कारर् र्े अपिा र्ोट िहीं िे 

सके। दिए गए ितों का 10% अिान्य हैं। जीति ेर्ािा प्रत्याशी केर्ि एक ित से जीतता ह।ै कम्ब्पिी िें किवचाररयों की कुि सखं्या 

का न्यिूति िाि दकतिा हो सकता है?  

(a) 102 

(b) 100 

(c) 81 

(d) 90 

(e) इििें से कोई िहीं  

 

Q85. नर्र्ाह के सिय एक यगुि की औसत आय ु26 र्षव ह।ै 4 र्षों के बाि यगुि और उिके िो बच्चों की औसत आय ु16 र्षव ह।ै 

यह िाित ेहुए की उिके बच्च ेजड़ुर्ा ंिहीं हैं तो उिके बच्चों की आय ुज्ञात कीनजए। 

(a) 1 र्षव, 3 र्षव 

(b) 2 र्षव, 3 र्षव 

(c) 1.5 र्षव, 2.5 र्षव 

(d) निधावररत िहीं दकया जा सकता  

(e) इििें से कोई िहीं  

 

Directions (86-90): निम्ननिनित िें स ेप्रत्यके प्रश्न िें, तीि कथि दिए हैं, आपको यह निधावररत करिा ह ैदक कौि सा/स ेकथि 

प्रश्न का उत्तर िेि ेके निए आर्श्यक हैं।   

 

Q86. 2550 रु. की एक धिरानश को, A, B और C िें नर्तररत दकया जािा ह।ै B 

का भाग दकतिा होगा?   

A. A का भाग, B के भाग का 1.5 गुिा ह।ै 

B. C, का भाग, A और B के नििाकर कुि भाग का आधा ह।ै  

C. A का भाग, B के भाग से 340 अनधक ह।ै  

(a) या तो A और B नििाकर या A और C नििाकर पयावप्त हैं  

(b) केर्ि A और B नििाकर पयावप्त हैं  

(c) केर्ि A और C नििाकर पयावप्त हैं   

(d) सभी कथि आर्श्यक हैं  

(e) 3 कथिों िें से कोई भी 2 कथि पयावप्त हैं   
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Q87. 40 नर्द्याथी पनंि और स्तंभ िें बठेै हैं। प्रत्यके स्तंभ िें दकति ेनर्द्याथी बठेै हैं?  

A. पंनियों की संख्या, स्तंभों की संख्या का 62.50% हैं।  

B. पंनियों की संख्या, स्तंभों की संख्या का 5/8 हैं।  

C. पंनियों की संख्या, स्तंभों की संख्या से कि ह।ै  

(a) केर्ि A    

(b) C और या तो A या B   

(c) केर्ि B    

(d) या तो A या B 

(e) सभी कथि आर्श्यक हैं  
 

Q88. एक िार् शातं जि िें नबिं ुA स ेB तक की यात्रा करि ेिें 2 घटंे का सिय िेती ह।ै धारा के प्रनतकूि िार् की गनत ज्ञात 

करि ेके निए, निम्ननिनित िें स ेकौि सी जािकारी आर्श्यक ह?ै  

A. नबिं ुA और B के बीच की िरूी    

B. नबंि ुB से A तक धारा के अिुकूि तय की गई यात्रा िें िगा सिय  

C. धारा की गनत  

(a) सभी आर्श्यक हैं  

(b) A और B, B और C या C और A के युग्ि िें से कोई एक युग्ि पयावप्त ह।ै  

(c) केर्ि A और B 

(d) केर्ि A और C 

(e) इििें से कोई िहीं  
 

Q89. एक कुसी की कीित दकतिी ह?ै  

A. तीि िेज की कीित, सात कुर्सवयों की कीित के बराबर ह।ै 

B. एक िेज और एक कुसी की कीित के बीच अंतर 900रु. ह।ै  

C. एक िेज की कीित, एक कुसी की कीित से 133
1

3
% अनधक ह।ै 

(a) केर्ि A और B नििाकर पयावप्त हैं   

(b) केर्ि A और C नििाकर पयावप्त हैं  

(c) सभी नििाकर आर्श्यक हैं  

(d) B और या तो A या C एक साथ आर्श्यक हैं  

(e) सभी A, B और C नििाकर भी पयावप्त िहीं हैं  

 

Q90. एक थिै ेिें, केर्ि तीि अिग-अिग रंग की गेंिे हैं अथावत ्िाि, पीिी और हरी। 3 गेंिे यािनृछछक रूप से निकािी जाती 

हैं। निकािी गई तीिों गेंिों के अिग-अिग रंग के होि ेकी प्रानयकता ज्ञात कीनजए।   

A. पीिी रंग की गेंिों की संख्या, िाि गेंिों की संख्या से िो अनधक है 

B. पीिी रंग और हरे रंग की गेंिों की संख्या का योग, िाि गेंिों की संख्या के तीि गुिा ह।ै  

C. िाि गेंिों की संख्या का, हरी गेंिों की संख्या से अिुपात 3 : 4 ह।ै  

(a) A और या तो B या C   

(b) इििें से कोई िो  

(c) केर्ि A और C नििाकर  

(d) सभी जािकारी का उपयोग करिे के बाि भी प्रश्न का उत्तर िहीं दिया जा सकता 

(e) सभी कथि आर्श्यक हैं 
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Directions (91-95): निम्ननिनित ग्राि और तानिका का ध्यािपरू्वक अध्ययि कीनजए और िीच ेदिए प्रश्नों के उत्तर िीनजए।  

 

र्षव 2012-2016 िें अरुर्ोिय की र्ार्षवक आय और र्ीर का र्ार्षवक व्यय (हजारों िें) दिया ह ै 

 
िीचे िी गई तानिका िें, र्ीर और (अरुर्ोिय+र्ीर) की र्ार्षवक आय का संबंनधत अिुपात तथा अरुर्ोिय और (अरुर्ोिय+र्ीर) 

के र्ार्षवक व्यय का संबंनधत अिुपात िशवया गया ह।ै  

 
िोट :र्ार्षवक आय = र्ार्षवक व्यय + र्ार्षवक बचत  
 

Q91. र्षव 2012 और 2016 िें नििाकर अरुर्ोिय की र्ार्षवक बचत के औसत (हजारों िें) तथा सिाि िो र्षों िें नििाकर र्ीर 

की र्ार्षवक बचत के औसत (हजारों िें) के बीच का अतंर ज्ञात कीनजए।  

(a) 160 
(b) 165 
(c) 155 
(d) 175 
(e) 150 
 

Q92. र्षव 2013 और 2015 िें नििाकर र्ीर की र्ार्षवक आय तथा र्षव 2014 और 2016 िें नििाकर अरुर्ोिय के र्ार्षवक व्यय 

के बीच का अिपुात ज्ञात कीनजए।     

(a) 6 : 11 
(b) 5 : 7  
(c) 3 : 7  
(d) 6 : 7  

(e) इििें से कोई िहीं  
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Q93. र्षव 2015 और 2016 िें नििाकर र्ीर की र्ार्षवक बचत, र्षव 2013 और 2016 िें नििाकर अरुर्ोिय की र्ार्षवक बचत 

का िगभग दकति ेप्रनतशत अनधक या कि ह?ै  

(a) 82% 
(b) 88% 
(c) 85% 

(d) 90% 
(e) 86% 
 

Q94. र्षव 2017 िें, र्षव 2016 की तिुिा िें अरुर्ोिय की र्ार्षवक बचत िें 12% की किी होती ह,ै जबदक इस र्ीर की र्ार्षवक 

बचत िें 15% की र्नृद्ध होती ह।ै यदि र्षव 2017 िें इिकी र्ार्षवक आय, र्षव 2014 िें इिकी र्ार्षवक आय के सिाि ह ैतो र्षव 

2017 िें इिका कुि व्यय ज्ञात कीनजए। 

(a) 485 हजार  

(b) 495 हजार 

(c) 478 हजार  

(d) 458 हजार  

(e) इििें से कोई िहीं  
 

Q95. र्षव 2015 िें अरुर्ोिय के व्यय, र्षव 2016 िें र्ीर की बचत और र्षव 2013 िें र्ीर की आय के िािों(हजारों िें) का औसत 

ज्ञात कीनजए।  

(a) 755 
(b) 765 
(c) 705 
(d) 760 

(e) इििें से कोई िहीं  
 

Q96. सतीश की आय,ु उसके पतु्र की र्तविाि आय ुका 4 गिुा ह।ै 4 र्षों के बाि सतीश की आय,ु उसके पतु्र की आय ुका 3 गिुा 

हो जाती ह।ै यदि सतीश की पत्नी की आय,ु उसकी आय ुका 7/8 ह,ै तो सतीश की पत्नी और उसके पतु्र की र्तविाि आय ुका औसत 

ज्ञात कीनजए। 

(a) 18 
(b) 20 
(c) 14 
(d) 16 

(e) इििें से कोई िहीं  
 

Q97. एक टंकी को िो पाइप A और B द्वारा नििकर पािी स े36 नििट िें भरा जा 

सकता ह।ै यदि पाइप B को 30 नििट बाि बिं कर दिया जाता ह,ै तो टंकी 40 

नििट िें भर जाती ह।ै पाइप-B अकेि ेइस टंकी को दकति ेसिय िें भर सकता ह?ै    

(a) 45 नििट  

(b) 60 नििट 

(c) 75 नििट 

(d) 90 नििट  

(e) इििें से कोई िहीं   
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Q98. अछछी तरह स ेनििाई गई ताश की गड्डी िें स ेएक िेस काडव का चयि करि ेकी प्रानयकता ज्ञात कीनजए, यह दिया गया है 

दक 2 अनतररि जोकर काडव को भी िेस काडव के रूप िें नगिा जाता ह?ै  

(a) 
7

26
 

(b) 
14

27
 

(c) 
7

27
 

(d) 
7

52
 

(e) इििें से कोई िहीं 

  

Q99. यदि ट्रेि की गनत, कार की गनत स े25% अनधक ह ैतथा कार की गनत, एक ट्रक की गनत स े20% अनधक ह,ै ट्रक 640 

दक.िी. की िरूी 20 घटंे िें तय करता ह,ै नजसके िौराि र्ह प्रत्यके 100 दक.िी. के बाि 40 नििट आराि करता ह।ै ट्रेि को 600 

दक.िी. की िरूी तय करि ेिें दकतिा सिय िगता ह?ै  

(a) 9 घंटे  

(b) 8 घंटे 20 नििट  

(c) 10 घंटे  

(d) 8 घंटे  

(e) इििें से कोई िहीं  

 

Q100. एक बईेिाि िकुाििार, िलू्य िें 25% की र्नृद्ध करता ह ैतथा र्ह 1 दक.ग्रा. र्जि की जगह 900ग्रा. र्जि का प्रयोग 

करता ह।ै यदि र्ह प्रनत दक.ग्रा. 10% की छूट िेता ह ैतो िाभ% ज्ञात कीनजए।  

(a) 20% 

(b) 12.5% 

(c) 18% 

(d) 25% 

(e) इििें से कोई िहीं  

 

Directions (101-107): Read the following passage carefully and answer the questions given below 

it. Certain words are printed in bold to help you locate them while answering some of the 

questions. 

 

Throughout human history the leading causes of death have been infection and trauma. Modern 

medicine has scored significant victories against both, and the major causes of ill health and death are 

now the chronic degenerative diseases, such as coronary artery disease, arthritis, osteoporosis, 

Alzheimer's, macular degeneration, cataract and cancer. These have a long latency period before 

symptoms appear and a diagnosis is made. It follows that the majority of apparently healthy people 

are pre-ill. 

But are these conditions inevitably degenerative? A truly preventive medicine that focused on the 

pre-ill, analysing the metabolic errors which lead to clinical illness, might be able to correct them 

before the first symptom. Genetic risk factors are known for all the chronic degenerative diseases, and 

are important to the individuals who possess them. At the population level, however, migration 
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studies confirm that these illnesses are linked for the most part to lifestyle factors—exercise, smoking 

and nutrition. Nutrition is the easiest of these to change, and the most versatile tool for affecting the 

metabolic changes needed to tilt the balance away from disease. 

Many national surveys reveal that malnutrition is common in developed countries. This is not the 

calorie and/or micronutrient deficiency associated with developing nations (Type A malnutrition); 

but multiple micronutrient depletion, usually combined with calorific balance or excess (Type B 

malnutrition). The incidence and severity of Type B malnutrition will be shown to be worse if newer 

micronutrient groups such as the essential fatty acids, xanthophylls and flavonoids are included in 

the surveys. Commonly ingested levels of these micronutrients seem to be far too low in many 

developed countries. 

There is now considerable evidence that Type B malnutrition is a major cause of chronic degenerative 

diseases. If this is the case, then it is logical to treat such diseases not with drugs but with multiple 

micronutrient repletion, or "pharmaco-nutrition'. This can take the form of pills and capsules—

'nutraceuticals', or food formats known as 'functional foods'. This approach has been neglected 

hitherto because it is relatively unprofitable for drug companies—the products are hard to patent—

and it is a strategy which does not sit easily with modern medical interventionism. Over the last 100 

years, the drug industry has invested huge sums in developing a range of subtle and powerful drugs 

to treat the many diseases we are subject to. Medical training is couched in pharmaceutical terms and 

this approach has provided us with an exceptional range of therapeutic tools in the treatment of 

disease and in acute medical emergencies. However, the pharmaceutical model has also created an 

unhealthy dependency culture, in which relatively few of us accept responsibility for maintaining our 

own health. Instead, we have handed over this responsibility to health professionals who know very 

little about health maintenance, or disease prevention. 

One problem for supporters of this argument is lack of the right kind of hard evidence. We have a 

wealth of epidemiological data linking dietary factors to health profiles / disease risks, and a great 

deal of information on mechanism: how food factors interact with our biochemistry. But almost all 

intervention studies with micronutrients, with the notable exception of the omega 3 fatty acids, have 

so far produced conflicting or negative results. In other words, our science appears to have no 

predictive value. Does this invalidate the science? Or are we simply asking the wrong questions? 

Based on pharmaceutical thinking, most intervention studies have attempted to measure the impact 

of a single micronutrient on the incidence of disease. The classical approach says that if you give a 

compound formula to test subjects and obtain positive results, you cannot know which ingredient is 

exerting the benefit, so you must test each ingredient individually. But in the field of nutrition, this 

does not work. Each intervention on its own will hardly make enough difference to be measured. The 

best therapeutic response must therefore combine micronutrients to normalise our internal 

physiology. So do we need to analyse each individual's nutritional status and then tailor a formula 

specifically for him or her? While we do not have the resources to analyse millions of individual 

cases, there is no need to do so. The vast majority of people are consuming suboptimal amounts of 

most micronutrients, and most of the micronutrients concerned are very safe.  

Accordingly, a comprehensive and universal program of micronutrient support is probably the most 

cost-effective and safest way of improving the general health of the nation. 
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Q101. Type-B malnutrition is a serious concern in developed countries because 

(a) developing countries mainly suffer from Type-A malnutrition. 

(b) it is a major contributor to illness and death. 

(c) pharmaceutical companies are not producing drugs to treat this condition. 

(d) national surveys on malnutrition do not include newer micronutrient groups. 

(e) None of these 

 

Q102. Why are a large number of apparently healthy people deemed pre-ill? 

(a) They may have chronic degenerative diseases. 

(b) They do not know their own genetic risk factors which predispose them to diseases. 

(c) They suffer from Type-B malnutrition. 

(d) There is a lengthy latency period associated with chronically degenerative diseases. 

(e) All of the above 

 

Q103. The author recommends micronutrient-repletion for large-scale treatment of chronic 

degenerative diseases because 

(a) it is relatively easy to manage.  

(b) micronutrient deficiency is the cause of these diseases. 

(c) it can overcome genetic risk factors.  

(d) it can compensate for other lifestyle factors. 

(e) All of the above. 

 

Q104. Tailoring micronutrient-based treatment plans to suit individual deficiency profiles is not 

necessary because 

(a) it very likely to give inconsistent or negative results. 

(b) it is a classic pharmaceutical approach not suited to micronutrients. 

(c) most people are consuming suboptimal amounts of safe-to-consume micronutrients. 

(d) it is not cost effective to do so. 

(e) None of these 

 

Directions (105-106): Choose the word which is most nearly the same in meaning as the word 

printed in bold as used in the passage. 

 

Q105. Subtle 

(a) abject 

(b) tenuous 

(c) adamant 

(d) emulate 

(e) Travesty 
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Q106. Invalidate 

(a) servile 

(b) Inane  

(c) equivocal  

(d) hapless 

(e) refute 

 

Directions (107): Choose the word which is most opposite in 

meaning as the word printed in bold as used in the passage. 

 

Q107. Inevitable 

(a) bereft 

(b) avertable 

(c) Amenable 

(d) callous 

(e) alacrity 

 

Directions (108-115): Read the following passage carefully and answer the questions given below 

it. Certain words are printed in bold to help you locate them while answering some of the 

questions. 

 

Fifty feet away three male lions lay by the road. They didn’t appear to have a hair on their heads. 

Noting the color of their noses (leonine noses darken as they age, from pink to black), Craig estimated 

that they were six years old — young adults. “This is wonderful!” he said, after staring at them for 

several moments. “This is what we came to see. They really are maneless.” Craig, a professor at the 

University of Minnesota, is arguably the leading expert on the majestic Serengeti lion, whose head is 

mantled in long, thick hair. He and Peyton West, a doctoral student who has been working with him 

in Tanzania, had never seen the Tsavo lions that live some 200 miles east of the Serengeti. The 

scientists had partly suspected that the maneless males were adolescents mistaken for adults by 

amateur observers. Now they knew better. 

The Tsavo research expedition was mostly Peyton’s show. She had spent several years in Tanzania, 

compiling the data she needed to answer a question that ought to have been answered long ago: Why 

do lions have manes? It’s the only cat, wild or domestic, that displays such ornamentation. In Tsavo 

she was attacking the riddle from the opposite angle. Why do its lions not have manes? (Some 

“maneless” lions in Tsavo East do have partial manes, but they rarely attain the regal glory of the 

Serengeti lions.) Does environmental adaptation account for the trait? Are the lions of Tsavo, as some 

people believe, a distinct subspecies of their Serengeti cousins? 

The Serengeti lions have been under continuous observation for more than 35 years, beginning with 

George Schaller’s pioneering work in the 1960s. But the lions in Tsavo, Kenya’s oldest and largest 
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protected ecosystem, have hardly been studied. Consequently, legends have grown up around them. 

Not only do they look different, according to the myths, they behave differently, displaying greater 

cunning and aggressiveness. “Remember too,” Kenya: The Rough Guide warns, “Tsavo’s lions have a 

reputation of ferocity.” Their fearsome image became well-known in 1898, when two males stalled 

construction of what is now Kenya Railways by allegedly killing and eating 135 Indian and African 

laborers. A British Army officer in charge of building a railroad bridge over the Tsavo River, Lt. Col. 

J. H. Patterson, spent nine months pursuing the pair before he brought them to bay and killed them. 

Stuffed and mounted, they now glare at visitors to the Field Museum in Chicago. Patterson’s account 

of the leonine reign of terror, The Man-Eaters of Tsavo, was an international best seller when 

published in 1907. Still in print, the book has made Tsavo’s lions notorious. That annoys some 

scientists. “People don’t want to give up on mythology,” Dennis King told me one day. The zoologist 

has been working in Tsavo off and on for four years. “I am so sick of this maneater business. 

Patterson made a helluva lot of money off that story, but Tsavo’s lions are no more likely to turn 

man-eater than lions from elsewhere.” 

But tales of their savagery and wiliness don’t all come from sensationalist authors looking to make a 

buck. Tsavo lions are generally larger than lions elsewhere, enabling them to take down the 

predominant prey animal in Tsavo, the Cape buffalo, one of the strongest, most aggressive animals of 

Earth. The buffalo don’t give up easily: They often kill or severely injure an attacking lion, and a 

wounded lion might be more likely to turn to cattle and humans for food. 

And other prey is less abundant in Tsavo than in other traditional lion haunts. A hungry lion is more 

likely to attack humans. Safari guides and Kenya Wildlife Service rangers tell of lions attacking Land 

Rovers, raiding camps, stalking tourists. Tsavo is a tough neighborhood, they say, and it breeds 

tougher lions. 

But are they really tougher? And if so, is there any connection between their manelessness and their 

ferocity? An intriguing hypothesis was advanced two years ago by Gnoske and Peterhans: Tsavo 

lions may be similar to the unmaned cave lions of the Pleistocene. The Serengeti variety is among the 

most evolved of the species — the latest model, so to speak — while certain morphological 

differences in Tsavo lions (bigger bodies, smaller skulls, and maybe even lack of a mane) suggest that 

they are closer to the primitive ancestor of all lions. Craig and Peyton had serious doubts about this 

idea, but admitted that Tsavo lions pose a mystery to science. 

 

Q108. The sentence which concludes the first paragraph, "Now they knew better", implies that: 

(a) The two scientists were struck by wonder on seeing maneless lions for the first time. 

(b) Though Craig was all expert on the Serengeti lion, now he also knew about the Tsavo lions. 

(c) Earlier, Craig and West thought that amateur observers had been mistaken. 

(d) Craig was now able to confirm that darkening of the noses as lions aged applied to Tsavo lions as 

well. 

(e) None of these 
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Q109. According to the passage, which of the following has NOT contributed to the popular image 

of Tsavo lions as savage creatures? 

(a) Tsavo lions have been observed to bring down one of the strongest and most aggressive animals- 

the Cape buffalo. 

(b) In contrast to the situation in traditional lion haunts, scarcity of non-buffalo prey in the Tsavo 

makes the Tsavo lions more aggressive. 

(c) The Tsavo lion is considered to be less evolved than the Serengeti variety. 

(d) Tsavo lions have been observed to attack vehicles as well as humans. 

(e) All of these 

 

Q110. Which of the following, if true, would weaken the hypothesis advanced by Gnoske and 

Peterhans most? 

(a) Craig and Peyton develop even more serious doubts about the idea that Tsavo lions are primitive. 

(b) The maneless Tsavo East lions are shown to be closer to the cave lions. 

(c) Pleistocene cave lions are shown to be far less violent than believed. 

(d) The morphological variations in body and skull size between the cave and Tsavo lions are found 

to be insignificant. 

(e) All of the above 

 

Q111. The book Man-Eaters of Tsavo annoys some scientists because 

(a) it revealed that Tsavo lions are ferocious. 

(b) Patterson made a helluva lot of money from the book by sensationalism. 

(c) it perpetuated the bad name Tsavo lions had. 

(d) it narrated how two male Tsavo lions were killed. 

(e) All of the above 

 

Directions (112-113): Choose the word which is most nearly the same in meaning as the word 

printed in bold as used in the passage. 

 

Q112. Intriguing 

(a) denigrate 

(b) enthralling 

(c) debacle 

(d) Cogent 

(e) Circumvent 

 

Q113. Savagery 

(a) concomitant 

(b) viciousness 

(c) duress 

(d) disparate 

(e) Cognizant 
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Directions (114-115): Choose the word which is most opposite in meaning as the word printed in 

bold as used in the passage. 

 

Q114. Ferocity  

(a) Enervate  

(b) elicit  

(c) covet 

(d) tame 

(e) ebullient 

 

Q115. Primitive 

(a) neoteric 

(b) Exigent 

(c) onerous 

(d) paucity 

(e) Evince 

 

Directions (116-118): In each of the following sentence there are three blank spaces. Below each 

sentence there are five options and each option consists of three words which can be filled up in 

the blanks in the sentence to make the sentence grammatically correct.  

 

Q116. With inflation-targeting as its main _______ — the consensus position that was articulated 

when the RBI Act was amended in May 2016 was that “price stability is a _________ precondition 

to sustainable growth” — the Monetary Policy Committee (MPC) has opted yet again to keep 

interest rates ___________. 

(a) confirmation, primary, modified 

(b) uphold, assured, unrelieved 

(c) mandate, necessary, unchanged 

(d) support, radical, stabile 

(e) consent, inherent, endured 

 

Q117. Ultimately, though, the central bank has once again ________ a word of circumspection to 

fiscal authorities: taken together, the farm loan waivers ________ by some States, the partial 

reduction of excise duty and VAT on petroleum products and the GST rate cuts could ________ in 

fiscal slippage with accompanying consequences for price stability. 

(a) inflicted, provided, neglect 

(b) proffered, implemented, result 

(c) imposed, generated, occur 

(d) expected, assembled, transpire 

(e) intended, managed, appear 
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Q118.  Our recent victory in the hotly contested election to the International Court of Justice seems 

to have lifted our _______ as a nation. We are justifiably proud of our success and of the skill and 

________ with which our diplomacy was ___________. 

(a) conceit, sobriety, dissipated 

(b) caprice, timidity, eliminated 

(c) propensity, valuation, dispensed 

(d) spirits, determination, deployed 

(e) nature, judgment, mobilized 

 

Directions (119-120): In the question given below few sentences are given which grammatically 

correct and meaningful. Connect them by the word given above the statements in the best possible 

way without changing the intended meaning. Choose your answer accordingly from the options to 

form a correct, coherent sentence.  

 

Q119. NEVERTHELESS 

(A) Ankara continues to defiantly say it doesn’t need EU money or membership.  

(B) It is trying to develop ties with individual EU members, which seems to represent a search for 

another kind of relationship with Europe. 

(C) Turkey-EU ties are currently marked by mutual resentments and appear to be going nowhere.  

(D) It claims that it doesn’t need EU membership, Ankara refuses to end this bid unilaterally. 

(a) Only A-B 

(b) Only B-C 

(c) Only A-D 

(d) Both A-B and A-D 

(e) None 

 

Q120. WHEREAS 

(A) BJP has been routed in these elections having managed to win mere 18.7% of all seats  

(B) The opposition, especially independent candidates, have walked away with flying colours. 

(C) If Independents were a party they would have got a thumping majority in these elections. 

(D) Out of 16 Mayoral positions they have captured 14 and that is the end of their success story. 

(a) only C-D 

(b) only A-B 

(c) Only D-A 

(d) only B-C 

(e) none 
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Q121. In each of the following questions, various sentences are given and you have to choose the 

one which has some or any grammatical error in it. In the questions where option (E) is all are 

correct and all the sentences are grammatically correct choose option (E) as the correct choice. 

(a) Immediately after boarding the bus Mahesh asked the conductor that if he knew where the 

museum was. 

(b) Then I knelt down and opened my heart to her and poured out all the affection that was 

suffocating me. 

(c) She was decidedly pretty, but it is surprising, monsieur, how much prettier women seem to us 

when the day is fine at the beginning of the spring. 

(d) One morning on waking I saw from my window the blue sky glowing in the sun above the 

neighbouring houses. 

(e) My neighbour raised her eyes again, and this time, as I was still looking at her, she smiled 

decidedly. 

 

Q122. In each of the following questions, various sentences are given and you have to choose the 

one which has some or any grammatical error in it. In the questions where option (E) is all are 

correct and all the sentences are grammatically correct choose option (E) as the correct choice. 

(a) No longer able to bear with her anguish she surrendered her life to the ocean. 

(b) She experienced the summer grass beneath her feet and wore shoes that carried her over rocky 

terrain. 

(c) Since then many a seafarer has told stories of his encounters with the mermaid.   

(d) The success of our efforts depend upon the number of people who actually use the new methods. 

(e) She lost her love to as much greed as any man could acquire, greed for luxury, greed for 

temporary pleasure and greed through self absorbed advancement. 

 

Q123. In each of the following questions, various sentences are given and you have to choose the 

one which has some or any grammatical error in it. In the questions where option (E) is all are 

correct and all the sentences are grammatically correct choose option (E) as the correct choice. 

(a) By the Time he reaches his ship, time has crept ten fold and he soon finds himself a crippled old 

man, unable to board his ship and escape. 

(b) For Time is a treasure we rarely give credit to. 

(c) Hardly had he threw the ball when it fell on the ground. 

(d) Love no longer had value to him, her time meant little and her heart was no longer enough to 

offer him happiness. 

(e) And the journey from the cavern back to his ship would prove to be futile. 
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Q124. In each of the following questions, various sentences are given and you have to choose the 

one which has some or any grammatical error in it. In the questions where option (E) is all are 

correct and all the sentences are grammatically correct choose option (E) as the correct choice. 

(a) We can earn our gold and silver, we can lose it all and earn it back. 

(b) Shyam is working in our organization for the last few years in the publication department. 

(c) In a state of anguish she travelled alone across miles of ocean until she reached the Island of 

Alchemy. 

(d) The morning starts with a bang or one bang after another, a series, a chorus - the same sound that 

lulled me to sleep the night before. 

(e) A vital strong man would soon find the treasure he carries become a little harder to hold, and each 

step he makes him age. 

 

Q125. In each of the following questions, various sentences are given and you have to choose the 

one which has some or any grammatical error in it. In the questions where option (E) is all are 

correct and all the sentences are grammatically correct choose option (E) as the correct choice. 

(a) They talked for a while and then they will continue to play the game till tomorrow morning. 

(b) In any case, it would take me very little persuasion to accept a Chungwah though I often refuse 

others, and perhaps make secret enemies. 

(c) Anyway, I walk out and out the compound that houses the teachers and oficials' residences, 

looking for a place to get some chow. 

(d) I walk down the four flights of the hotel building where I and others of my ilk are housed. 

(e) I sit and spend the morning thus, making friends and losing some and finally decide lunch can 

wait no longer. 

 

Directions (126-130): Each of the following questions has a paragraph from which one sentence has 

been deleted. From the given options, choose the one that completes the paragraph in the most 

appropriate way. 

 

Q126. The government launched the “Housing For All by 2022” programme in 2015, with the 

Pradhan Mantri Awas Yojana (Pmay) as a key anchor scheme. ____________________________. 

Global examples indicate that affordable housing activities generate direct and indirect 

employment in the medium term and sustained consumption in the long term. A 2014 study by the 

National Council of Applied Economic Research indicates that every additional rupee of capital 

invested in the housing sector adds Rs1.54 to the gross domestic product (GDP) and every Rs1 

lakh invested in residential housing creates 2.69 new jobs in the economy.  

(a) Pmay envisages building 20 million urban units by 2022. 

(b) On the demand side, while overall economic growth will create the right enablers to stimulate 

demand, loans need to be provided at affordable rates. 

(c) By building a strong support system and hand-holding the real estate entrepreneurs, we could 

create an ecosystem of quality developers. 

(d) The lending institutions and credit rating agencies need to design new frameworks/rating scales 

that benchmark companies on such new capabilities. 

(e) For a national housing dream of such a magnitude to fructify, the entire housing ecosystem needs 

to be well developed and all the stakeholders need to share a unified vision. 
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Q127. Young and aspirational, the millennial generation that makes up about 40% of India’s 

population has long been regarded as the saviour and driver of future economic growth. Yet, the 

gap between the productive labour force and the employment and entrepreneurial opportunities 

available to them continues to widen. The fourth Industrial Revolution has already made its mark 

on certain sectors. ________________________. 

(a) Fulfilling the great expectations set for the MSDE seems unlikely unless certain changes are made. 

(b) To be fair, policymakers recognize the problem and have taken steps to combat it. 

(c) As technology continues to surge forward in leaps and bounds, both blue- and white-collar jobs 

will become increasingly sparse. 

(d) Much of India’s workforce is already hampered with outdated and irrelevant skills. 

(e) The economic turmoil that could be brought on by further large-scale disruption should be a cause 

of concern. 

 

Q128. In the past few years, the slowdown in exports could be attributed at least in part to tepid 

global growth and falling trade intensity. However, this year, the global economy has seen a 

strong cyclical upturn across geographies and sectors, driven by stronger growth in investment, 

trade and industrial production. As per S&P Global estimates, global GDP is expected to reverse a 

two-year slowdown and grow 3.6% in 2017, higher than the 3.1% logged in 2016. 

____________________. In particular, the US and the euro area—India’s largest export 

destinations—are expected to grow by 70 basis points (bps) and 30 bps higher than in 2016, at 2.2% 

and 2.3%, respectively. 

(a) The impact shows in the exports of labour-intensive sectors, which mainly comprise SMEs. 

(b) The pickup is expected to be broad-based, across both advanced and emerging market economies. 

(c) The fastest growth in exports was achieved when the rupee was strengthening against the dollar. 

(d) Clearly, India has not been able to take advantage of the improving global environment, 

especially compared with its Asian peers. 

(e) Revival in global investment, which has a high import content, further helped boost trade. 

 

Q129. Land and housing rights have been a contentious topic in 

Kyrgyzstan since the country achieved independence following 

the collapse of the Soviet Union in 1991. Although under Kyrgyz 

law the state is supposed to provide a free plot of land to every 

citizen, as Eurasianet notes, “In reality, a land-allocation process 

thick with corruption and bureaucratic obstacles awaits anyone 

attempting to claim his share.” As a result, while elites and those 

with access to them have acquired more than their fair share of 

land for housing and construction projects, the majority of the 

population has been left to fend for themselves, vulnerable to 

elite power plays and manipulation. ___________________. 
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(a) In this context, land rights and housing issues have long been at the center of political controversy, 

particularly at times of upheaval 

(b) This is especially true in and around Bishkek, where prime land is very attractive and expensive 

due to plot scarcity and services availability.  

(c) In exchange for their support at crunch time for the then newly installed interim government, they 

expected to be rewarded with the same land for housing. 

(d) To this day, however, it has been impossible to establish exactly how many people participated in 

this scheme and the total sum that was collected.  

(e) Land rights and housing issues have long been at the center of political controversy, particularly 

at times of upheaval. 

 

Q130. On October 8, 2005, a magnitude 7.6 earthquake rocked Kashmir, resulting in nearly 75,000 

deaths, injuring more than 100,000 people, and causing extensive damage. Although the epicenter 

was on the border between the Pakistani- and Indian-administered portions of Kashmir, the 

quake and its aftershocks were felt across the region from Central Asia to China. The tremors of 

Kashmir also created volatility in the region’s already precarious security structure. 

____________________. 

(a) The two countries nearly came to war in 1986-1987 and have engaged in numerous smaller border 

confrontations. 

(b) This is due to the overlapping territorial claims of India, Pakistan, and China. 

(c) Currently, Pakistan occupies about 78,114 sq. km and China about 42,685 sq. km (Aksai Chin), 

including 5,180 sq. km controversially ceded by Pakistan to China (Shaksam Valley) in 1964. 

(d) The planned corridor enters at the Gilgit-Baltistan region of Kashmir, which is controlled by 

Pakistan, but claimed by India. 

(e) The two countries nearly came to war in 1986-1987 and have engaged in numerous smaller border 

confrontations. 

 

Directions (131-140): In the passage given below there are blanks which are to be filled with the 

options given below. Find out the appropriate pair of words in each case which can most suitably 

complete the sentence without altering the meaning of the statement. Both the pairs must fill the 

blank. 

 

Q131. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 
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Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) uninvolved / dispassionate 

(b) interested / disturbed 

(c) concerned / solicitude 

(d) worried / appreciated 

(e) attentive / troubled  

 

Q132. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The 

key __________(138) of police performance is not 

___________(139) correct reporting and recording but 

chargesheets and convictions, as this impacts on criminal 

___________(140). 

(a) factors / invasion 

(b) hassle / disregard 

(c) reforms / policies 

(d) interference / intervention 

(e) opposition / arrest 
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Q133. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) records / administration 

(b) government / officials 

(c) authority / jurisdiction 

(d) management / supervision 

(e) account / history 

 

Q134. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) opinion / relief 

(b) release / publicity 

(c)  notice /display 

(d) analysis / undercover 

(e) publication / issue  
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Q135. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) worrisome / boring 

(b) pleasant / engaging 

(c) horrible / evil 

(d) agreeable / civilized 

(e) dismal / horrid 

 

Q136. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) convictions /judgements 

(b) sentences / culprits 

(c) hearings / discriminations 

(d) victims / punishments 

(e) condemns / sanction 

 



42 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website:store.adda247.com | Email:ebooks@adda247.com 

 

Q137. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) unrestrained / liberated 

(b) arrested / seized 

(c) captured / advocated 

(d) released / freed 

(e) held / punished 

  

Q138. Police reform in India has been ____________ (131) with political ___________ (132) ever since 

the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 

reorganising criminal ________________ (133). 

The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 

which was released recently, presents a ______(135) picture of the key performance statistic with only 

47% convictions in Indian Penal Code (IPC) crimes at the national level. 

Delhi provides an interesting case study, where there is no political interference and the Police 

Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 

smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 

persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 

only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 

chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 

reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 

against women, final reports were filed in only 15% of cases. The key __________(138) of police 

performance is not ___________(139) correct reporting and recording but chargesheets and 

convictions, as this impacts on criminal ___________(140). 

(a) role / affair 

(b) evidence / data 

(c) process / factor 

(d) statistic / feature 

(e) circumstance / accomplishment 
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Q139. Police reform in India has been ____________ (131) with political ___________ (132) ever since 
the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 
reorganising criminal ________________ (133). 
The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 
which was released recently, presents a ______(135) picture of the key performance statistic with only 
47% convictions in Indian Penal Code (IPC) crimes at the national level. 
Delhi provides an interesting case study, where there is no political interference and the Police 
Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 
smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 
persons were sent to trial last year, there were only 9,837 IPC __________(136) in the year. In Delhi 
only 58% of those _______--__(137) were chargesheeted, while in Mumbai, more persons were 
chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 
reported and no chargesheets filed in 4,371 cases (32%); in Mumbai with 5,128 crimes reported 
against women, final reports were filed in only 15% of cases. The key __________(138) of police 
performance is not ___________(139) correct reporting and recording but chargesheets and 
convictions, as this impacts on criminal ___________(140). 
(a) rarely/only 
(b) Impartially/ incorrectly 
(c) scantly/ slender 
(d) merely/ just 
(e) Impetuously/ imprudently 
 
Q140. Police reform in India has been ____________ (131) with political ___________ (132) ever since 
the landmark Supreme Court judgement, in 2006, on the subject. The focus should really be on 
reorganising criminal ________________ (133). 
The annual ____________ (134) of the National Crime Records Bureau (NCRB), “Crime in India 2016”, 
which was released recently, presents a ______ (135) picture of the key performance statistic with 
only 47% convictions in Indian Penal Code (IPC) crimes at the national level. 
Delhi provides an interesting case study, where there is no political interference and the Police 
Commissioner reports to the Lieutenant Governor, and not the Chief Minister. With a population 
smaller than Mumbai, it has two times the number of police stations. Yet, in Delhi, while 1,90,876 
persons were sent to trial last year, there were only 9,837 IPC __________ (136) in the year. In Delhi 
only 58% of those _________ (137) were chargesheeted, while in Mumbai, more persons were 
chjargesheeted than were arrested for IPC crimes. In Delhi, 13,803 crimes against women were 
reported and no chargesheets filed in 4,371 cases (32%); in 
Mumbai with 5,128 crimes reported against women, final reports 
were filed in only 15% of cases. The key __________ (138) of police 
performance is not ___________ (139) correct reporting and 
recording but chargesheets and convictions, as this impacts on 
criminal ___________ (140). 
(a) behaviour / psychology 
(b) performance / mindset 
(c) administration / records 
(d) philosophy / values 
(e) data / results 
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Q141. निम्ननिनित िें से दकस प्रकार की बैंककंग िें, बैंक और उसके उपभोिाओं के बीच ििेिेि का प्रत्यक्ष निष्पािि दकया 

जाता है? 

(a) ररटेि बैंककंग 

(b) यूनिर्सवि बैंककंग  

(c) र्चुवअि बैंककंग 

(d) यूनिट बैंककंग 

(e) दिए गए नर्कल्पों िें से कोई भी सही िहीं है 

 

Q142. िनहिा एर् ंबाि नर्कास ितं्री श्ीिती ििेका सजंय गाधंी ि ेिई दिल्िी िें पचंायती राज ससं्थािों और िास्टर ट्रेिसव के 

ईडब्ल्यआूर के निए गहि प्रनशक्षर् कायवक्रि पशे दकया। EWRs का पूरा रूप क्या ह-ै  

(a) Elected Women Representatives 

(b) ElectronicWomen Representatives 

(c) Effective Women Representatives 

(d) Elected Women Revenue 

(e) Elected Women Republic 

 

Q143. हाि ही िें दकस बैंक ि ेपरूी तरह स ेनडनजटि और कागज रनहत तरीके से, अपि ेबचत िाता ग्राहकों को तत्काि के्रनडट 

काडव प्राप्त करि ेके निए त्र्ररत के्रनडट काडव ि़ॉन्च दकया है? 

(a) स्टेट बैंक ऑि इंनडया 

(b) आईसीआईसीआई बैंक 

(c) एनक्सस बैंक 

(d) बैंक ऑि बड़ौिा 

(e) एचडीएिसी बैंक 

 

Q144. दकस बैंक िे ररटेि और क़ॉरपोरेट ग्राहकों के निए ररपि के एंटरप्राइज ब्ि़ॉकचिै टेक्नोि़ॉजी स़ॉल्यशूि का उपयोग करके 

त्र्ररत अतंरराष्ट्रीय भगुताि सरे्ाएं शरुू की हैं?  

(a) एनक्सस बैंक 

(b) आईसीआईसीआई बैंक 

(c) स्टेट बैंक ऑि इंनडया 

(d) एचडीएिसी बैंक 

(e) बैंक ऑि बड़ौिा 

 

Q145. नसनंडकेट बैंक ि े हाि ही िें निनित पररपक्वता बकेट िें 5-10 आधार अकंों के आधार पर धि आधाररत उधार िर 

(एिसीएिआर) की सीिातं िागत को बिा दिया ह।ै नसनंडकेट बैंक का िखु्यािय कहा ंहै? 

(a) िििऊ, उत्तर प्रिेश 

(b) जयपुर, राजस्थाि 

(c) कोिकाता, पनिि बगंाि 

(d) िनर्पाि, किावटक 

(e) चेन्नई, तनिििाडु 
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Q146. हाि ही िें िेश िें सार्वभौनिक घरेि ू नर्द्यतुीकरर् प्राप्त करिे के निए ‘सौभाग्य’ योजिा आरंभ की गई ह।ै 

SAUBHAGYA िें ‘S’ का क्या अथव है?  

(a) सर्व 

(b) सहज 

(c) सुिभ 

(d) सरि 

(e) सम्ब्पूर्व  

 

Q147. निजी क्षते्र के ऋर्िाता एनक्सस बैंक िे दकस धिरानश तक, बचत बैंक िातों पर 50 आधार अकंों स ेब्याज िर घटाकर 

3.5 िीसिी कर िी है? 

(a) 1 िाि रुपय े

(b) 80 िाि रुपये 

(c) 20 िाि रुपय े

(d) 50 िाि रुपय े

(e) 10 िाि रुपय े

 

Q148. िेश िें सार्वभौनिक घरेिू नर्द्यतुीकरर् को प्राप्त करि ेके एक भाग के रूप िें ‘सौभाग्य’ योजिा हाि ही िें दकस राज्य िें 

शुरू की गई थी? 

(a) असि 

(b) अरुर्ाचि प्रिेश 

(c) िागािैंड 

(d) िनर्पुर 

(e) नसदिि 

 

Q149. घि, जी-सके, नर्िेशी िदु्रा और व्यतु्पन्न बाजारों िें ििेिेि के निए गारंटीकृत सिाशोधि और निपटाि कायव प्रिाि करिे 

के निए ___________ ह।ै 

(a) एिपीसीआई 

(b) सेबी 

(c) भारत सरकार 

(d) आरबीआई 

(e) सीसीआईएि 

 

Q150. ओनडशा के िखु्यितं्री िर्ीि पटिायक ि ेभारत िें आयोनजत होि ेर्ाि ेह़ॉकी नर्श्व कप 2018 का िोगो और शुभकंर का 

अिार्रर् दकया था। दकस स्टेनडयि िें यह अिार्रर् दकया गया था? 

(a) र्ीर सुरेंद्र राय स्टेनडयि 

(b) बारबाटी स्टेनडयि  

(c) कनिंगा स्टेनडयि 

(d) िेहरू स्टेनडयि 

(e) किूर इन्टेिेशिि स्टेनडयि 
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Q151. निम्ननिनित िें स ेकौि सी के्रनडट सनुर्धा एक बैंक द्वारा प्रिाि की जाती ह,ै जो एक नर्नशष्ट उद्देश्य के निए एक इकाई के 

निए, एक िघ ुअर्नध के बाि प्रनतिेय होती है?  

(a) अनग्रि 

(b) ऋर् 

(c) प्रनतभूनत  

(d) िेयताए ं

(e) सद्भार्िा 

 

Q152. भारतीय ििू के उस र्ररष्ठ नसनर्ि किवचारी का िाि बताइए, नजस ेनसगंापरु के कायवर्ाहक  राष्ट्रपनत के रूप िें नियिु 

दकया गया है? 

(a) एि एस गर्ेश 

(b) पी के कृष्र्ि 

(c) जे र्ाई नपल्िे 

(d) एस आर िाथि 

(e) इििें से कोई िहीं 

 

Q153. एक बिं अथवव्यर्स्था है? 

(a) केर्ि नियावत दकया जाता ह ै

(b) केर्ि आयात दकया जाता है 

(c) आयात और नियावत होता है 

(d) ि तो आयात और ि ही नियावत होता है 

(e) दिए गए नर्कल्पों िें से कोई भी सही िहीं है 

 

Q154. अतंरावष्ट्रीय बहुपक्षीय सिदु्री िोज और बचार् अभ्यास 2017 (IMMSAREX 2017) का आयोजि कहााँ पर दकया गया?  

(a) बांग्िािेश 

(b) म्ब्यांिार 

(c) जापाि 

(d) भारत 

(e) थाईिैंड 

 

Q155. िरनसहंि सनिनत -2 की स्थापिा का उद्देश्य क्या था? 

(a) िक्षता और उत्पािकता 

(b) बैंककंग सुधार प्रदक्रया 

(c) आईटी के्षत्र का नियावत 

(d) नर्त्तीय सुधार प्रदक्रया 

(e) दिए गए नर्कल्पों िें से कोई भी सही िहीं है 
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Q156. िचेी ििी के ऊपर िए िचेी पिु के निए, भारत और दकस िेश के बीच सिझौता ज्ञापि पर हस्ताक्षर (एिओय)ू हुए? 

(a) बांग्िािेश 

(b) िेपाि 

(c) भूटाि 

(d) श्ीिंका 

(e) म्ब्यांिार 

 

Q157. ग्रािीर् आबािी के बीच नडनजटि बैंककंग को बिार्ा िेि ेकी अपिी पहि के भाग के तहत, निम्ननिनित बैंकों िें स ेकौि 

सा बैंक िेश के नर्नभन्न राज्यों िें 100 स ेअनधक नडनजटि गारं्ों को नर्कनसत करि ेजा रहा है? 

(a) यूको बैंक 

(b) नर्जया बैंक 

(c) कारपोरेशि बैंक 

(d) बैंक ऑि इंनडया 

(e) सेंट्रि बैंक ऑि इंनडया 

 

Q158. कैनबिटे ि े सीिा शलु्क िाििों िें सहयोग और आपसी सहयोग पर भारत और दकस िेश के बीच एक सिझौत ेपर 

हस्ताक्षर करि ेकी स्र्ीकृनत िी? 

(a) आिेनिया 

(b) कतर 

(c) इनथयोनपया 

(d) नर्यतिाि 

(e) इििें से कोई िहीं 

 

Q159. भारतीय ररजर्व बैंक ि े 14 जिर्री 1971 को एक सार्वजनिक निनिटेड कंपिी को पिोन्नत दकया गया था, नजसे 

सीजीसीआई िाि दिया गया था। CGCI िें पहि े"सी" का क्या अथव था? 

(a) Common 

(b) Conclusion 

(c) Corporation 

(d) Concept 

(e) Credit 

 

Q160. दकस ई-क़ॉिसव कंपिी िे तिेगंािा नडपाटविेंट ऑि हणै्डििू एंड टेक्सटाइल्स के साथ एक सिझौता ज्ञापि (एिओय)ू पर 

हस्ताक्षर दकए हैं, तादक बिुकरों और कारीगरों को नशनक्षत,  प्रनशनक्षत और सक्षि दकया जा सके, नजससे र् ेिशेभर िें अपिे 

ग्राहकों को सीध ेअपि ेउत्पाि बचे सकें ? 

(a) दिनिपकाटव 

(b) अिेज़़ॅि 

(c) सै्नपडीि 

(d) पेटीएि 

(e) इििें से कोई िहीं 

 



48 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website:store.adda247.com | Email:ebooks@adda247.com 

 

Q161. निम्ननिनित िें स ेदकस र्षव िें, एनशया का पहिा नियावत प्रोसनेसगं ज़ोि (ईपीजडे) स्थानपत दकया गया था? 

(a) 1959 

(b) 1971 

(c) 1965 

(d) 1956 

(e) 1975 

 

Q162. िीिा U-17 नर्श्वकप का 17 र्ा ंससं्करर् भारत िें पहिी बार हुआ था। अडंर -17 िुटब़ॉि नर्श्व कप की आनधकाररक 

गेंि का िाि  _____________ था।  

(a) सोक्रोट 

(b) िरतो 

(c) प्रोटोि 

(d) ििोरा 

(e) रासार्ा  

 

Q163. बैंककंग िोकपाि एक र्ररष्ठ अनधकारी है, जो .................. द्वारा नियिु दकया जाता है? 

(a) भारत सरकार 

(b) भारत के राष्ट्रपनत 

(c) भारत के िुख्य न्यायाधीश 

(d) भारतीय ररज़र्व बैंक 

(e) नर्त्त िंत्रािय 

 

Q164. अश्गाबाट, निम्ननिनित िेश की दकस राजधािी की राजधािी है? 

(a) उजबेदकस्ताि 

(b) कजािस्ताि 

(c) तुकव िेनिस्ताि 

(d) यूके्रि 

(e) इििें से कोई िहीं 

 

Q165. भारतीय ररज़र्व बैंक (आरबीआई) ि े "िघ ु नर्त्त बैंकों के िाइसेंस के निए 

दिशानििेश" के तहत छोटे नर्त्त बैंकों की स्थापिा के निए ________ आर्िेकों को 

"नसद्धातंतः" स्र्ीकृनत िी है? 

(a) 11 

(b) 12 

(c) 13 

(d) 10 

(e) 15 
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Q166. िािस िशेिि पाकव  या िािस र्न्यजीर् अभयारण्य कहााँ पर नस्थत है? 

(a) पनिि बगंाि 

(b) असि 

(c) ओनडशा 

(d) झारिंड 

(e) नबहार 

 

Q167. छोटे नर्त्त बैंक की पडे-अप इदक्वटी पूजंी िें प्रिोटर का न्यिूति प्रारंनभक योगिाि कि स ेकि-------- होगा। 

(a) 50 प्रनतशत 

(b) 40 प्रनतशत 

(c) 60 प्रनतशत 

(d) 30 प्रनतशत 

(e) 20 प्रनतशत 

 

Q168. िपेाि ि े 2018-2022 के निए अगि े पाचं र्षों के निए िेश की नर्कास रर्िीनत तयैार करि े के निए ________ 

निनियि के संयिु राष्ट्र (यएूि) सहायता पकेैज पर हस्ताक्षर दकए हैं. 

(a) $ 715 निनियि 

(b) $ 685 निनियि 

(c) $ 786 निनियि 

(d) $ 635 निनियि 

(e) $ 649 निनियि 

 

Q169. छोटे नर्त्त बैंक सीआरआर और एसएिआर के रिरिार् की आर्श्यकता सनहत िौजिूा र्ानर्नज्यक बैंकों के निए िाग ू

सभी भारतीय ररजर्व बैंक के नर्र्केपरू्व िाििंडों और नियिों के अधीि होंग।े एसएिआर की र्तविाि िर क्या है? 

(a) 20.75 प्रनतशत 

(b) 19.50 प्रनतशत 

(c) 20.25 प्रनतशत 

(d) 20.00 प्रनतशत 

(e) 21.25 प्रनतशत 

 

Q170. चिे र्न्यजीर् अभयारण्य (सीडब्िएूस) िें कहााँ पर नस्थत है? 

(a) िध्य प्रिेश 

(b) असि 

(c) केरि 

(d) नहिाचि प्रिेश 

(e) नत्रपुरा 
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Q171. कोटक िनहदं्रा बैंक का िखु्यािय _______ िें नस्थत ह।ै 

(a) िुंबई 

(b) हिैराबाि 

(c) चेन्नई 

(d) बेंगिरुु 

(e) िई दिल्िी 

 

Q172. अरुर्ाचि प्रिेश के र्तविाि गर्िवर कौि है? 

(a) एस सी जिीर 

(b) बी.डी. निश्ा 

(c) पिािीस्र्ािी सतनशर्ि 

(d) पी.बी. आचायव 

(e) िृििुा नसन्हा 

 

Q173. भारत के राष्ट्रीय भगुताि निगि (एिपीसीआई) की प्रानधकृत पूजंी _________ ह ैऔर भगुताि की पूजंी _______ ह ै

(a) 300 करोड़ रुपये और 100 करोड़ रुपये 

(b) 350 करोड़ रुपये और 50 करोड़ रुपये 

(c) 200 करोड़ रुपये और 100 करोड़ रुपये 

(d) 100 करोड़ रुपये और 50 करोड़ रुपये 

(e) 600 करोड़ रुपये और 500 करोड़ रुपये 

 

Q174. उस बैंक का िाि बताइए, जो हाि ही िें भारतीय ररज़र्व बैंक द्वारा 'टू नबग टू िेि’ की सचूी िें शानिि दकया गया था, 

नजस ेडी-एसआईबी या घरेि ूव्यर्नस्थत रूप स ेिहत्र्परू्व बैंक कहा जाता है?  

(a) एनक्सस बैंक 

(b) पंजाब और िेशिि बैंक 

(c) बैंक ऑि बड़ौिा 

(d) एचडीएिसी बैंक 

(e) इिाहाबाि बैंक 

 

Q175. एिआईय-ूआईएिडी एक स्र्ततं्र निकाय ह ैजो सीध ेआर्थवक आसचूिा पररषि (ईआईसी) को ररपोर्टिंग करता ह।ै इसकी 

अध्यक्षता कौि करता ह-ै  

(a) भारत के राष्ट्रपनत 

(b) िीती आयोग  

(c) भारतीय ररज़र्व बैंक के गर्िवर 

(d) नर्त्त िंत्री 

(e) भारत सरकार 
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Q176. भारतीय रेि ि ेसभी प्रकार की यात्री आर्श्यकताओं को परूा करि े के निए एक एकीकृत िोबाइि ऐप "रेि सारथी" 

आरंभ दकया ह,ै नजसिें रटकट बकुकंग, पछूताछ, ऑिबोडव सिाई और एक प्िटेिािव पर भोजि का आिेश िेिा शानिि ह।ै 

“Saarthi”का पूरा रूप क्या है? 

(a) Synchronic Advanced Application Rail Travel Help and Information 

(b) Synergized Acknowledgement Application Rail Travel Help and Information 

(c) Synchronic Acknowledgement Application Rail Travel Help and Information 

(d) Synergized Advanced Application Rail Travel Help and Information  

(e) इििें से कोई िहीं 

 

Q177. ____________ एक ऐसी प्रर्ािी ह ैजो कई बैंक िातों को एकि िोबाइि एनप्िकेशि (दकसी भी भाग ििे ेर्ाि ेबैंक 

का) िें कई बैंककंग सनुर्धाओं, निबावध िंड रूटटंग और िचेंट पिेेंट्स को एक हुड िें नर्िीि कर िेती ह।ै 

(a) एिईएिटी 

(b) आरटीजीएस 

(c) एिपीसीआई 

(d) बीएचआईएि 

(e) यूपीआई 

 

Q178. ‘राष्ट्रीय यरु्ा दिर्स’ निम्ननिनित िें स ेदकस तारीि िें ििाया जाता है? 

(a) 8 िई 

(b) 12 जिर्री 

(c) 18 िाचव 

(d) 17 अपै्रि 

(e) 24 िरर्री 

 

Q179. निम्ननिनित िें स ेकौि सा "डीिटै" िाता के रूप िें जािा जाता है? 

(a) िाता नजसिें शेयर इिेक्ट्ऱॉनिक रूप िें आयोनजत दकए जाते हैं 

(b) िाता जो शून्य शेष के साथ िोिा गया 

(c) िाते को िाबानिग के अनभभार्क द्वारा संचानित दकया जा सकता है 

(d) ग्रािीर् कें द्रों िें व्यर्साय संर्ाििाताओं द्वारा संचानित िाते 

(e) दिए गए नर्कल्पों िें से कोई भी सही िहीं है 

 

Q180. ररहिंिगर िें, ररहिं थिवि पार्र स्टेशि दकस राज्य िें नस्थत है?  

(a) उत्तर प्रिेश 

(b) िध्य प्रिेश 

(c) ओनडशा 

(d) आंध्र प्रिेश  

(e) इििें से कोई िहीं 
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Q181. यदि प्रनतभनूत अितूव रूप िें रिी जाती ह ैतो शयेरों, नडबेंचरों और ब़ॉन्ड की सुरक्षा के नििाि ऋर्,  प्रनत व्यनि 

_______________ की सीिा स ेअनधक िहीं होिा चानहए। 

(a) िस िाि 

(b) पांच िाि 

(c) तीस िाि 

(d) पचास िाि 

(e) बीस िाि 

 

Q182. योिके्स फ्रें च ओपि 2017 बडैनिटंि टूिाविेंट परेरस िें आयोनजत दकया गया था। परुुषों की एकि श्रे्ी िें, उपनर्जतेा 

कौि था? 

(a) योशेटेरू नहरोब 

(b) नशंटो इकेिा 

(c) ताकेशी कािुरा 

(d) कें ता निनशिोतो 

(e) काज़़ुिासा सकै 

 

Q183. ििंि, यिूाइटेड ककंगडि (यकेू) िें 2017 की नर्श्व पैरा एथिरेटक्स चैंनपयिनशप िें व्यनिगत रूप स ेसर्वश्षे्ठ 60.36 िीटर 

के साथ परुुषों के भािा िें क िें स्र्र्व पिक जीति ेर्ाि ेभारत के नििाड़ी का िाि बताइए। 

(a) दििेश नप्रयंधा 

(b) शरि कुिार 

(c) संुिर नसंह गुजवर 

(d) र्रुर् भाटी 

(e) इििें से कोई िहीं 

 

Q184. भारत के नर्ज्ञाि और प्रौद्योनगकी, पथृ्र्ी नर्ज्ञाि, पयावर्रर्, र्ि और जिर्ाय ुपररर्तवि ितं्री कौि है? 

(a) ड़ॉ. हषवर्धवि 

(b) श्ीिती हरनसम्र कौर बािि 

(c) जगत प्रकाश िड्डा 

(d) निनति जयराि गडकरी 

(e) इििें से कोई िहीं 

 

Q185. भारत और दकस िेश के बीच एक सयंिु सनै्य प्रनशक्षर् 'व्यायाि यदु्ध अभ्यास -2017 का आयोजि दकया जाएगा? 

(a) यएूसए 

(b) रूस 

(c) चीि 

(d) जिविी 

(e) िनक्षर् कोररया 
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Q186. यिूाइटेड ओर्रसीज बैंक निनिटेड का िखु्यािय कहा ंहै? 

(a) चीि 

(b) रूस 

(c) नसंगापुर 

(d) बांग्िािेश 

(e) श्ीिंका 

 

Q187. परू्व िोकसभा सिस्य और प्रनसद्ध र्ास्तकुार का िाि बताइए, नजसका हिैराबाि िें निधि हो गया है? 

(a) पुिानथि कंुजिलु्िा 

(b) नगररजा िेर्ी 

(c) सतीश चंद्र 

(d) बिाि िरनसम्ब्हा रेड्डी 

(e) इििें से कोई िहीं 

 

Q188. भारत िें चके नसस्टि को आरंभ करि ेर्ाि ेप्रथि बैंक का िाि बताइए? 

(a) सेंट्रि बैंक ऑि इंनडया 

(b) पे्रसीडेंसी बैंक 

(c) बगंाि बैंक 

(d) एचएसबीसी 

(e) आईसीआईसीआई बैंक 

 

Q189. पसु्तक "हाउ इंनडया ससे ि र्ल्डव: कौरटल्य टू ि 21 सने्चरी " के ििेक कौि हैं? 

(a) अनितर् घोष 

(b) जयंत कनिता 

(c) नर्क्रि सेठ 

(d) प्रिीप कुिार 

(e) श्याि सरि 

 

Q190. तगुभद्रा बाधं दकस राज्य िें तुगंभद्रा ििी के पर बिा है? 

(a) तनिििाडु 

(b) केरि 

(c) किावटक  

(d) तेिंगािा 

(e) ओनडशा 
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